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F–1536   

B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

First Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY — I 

(CBCS – 2017 onwards) 

Time : Three Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is convention? 

 ©μ¦PÒ GßÓõÀ GßÚ? 

2. What is a ledger? 

 SÔ¨÷£k GßÓõÀ GßÚ? 

3. What is Bank Reconciliation Statement? 

 Á[Q \©μ\ AÔUøP GßÓõÀ GßÚ? 

4. What is a double-sided error? 

 C¸£UP ¤øÇPÒ GßÓõÀ GßÚ? 

5. What is insurance policy method? 

 Põ¨¥mk öPõÒøP•øÓ GßÓõÀ GßÚ? 

6. What are the objectives of depreciation? 

 ÷u´©õÚzvß ÷|õUP[PøÍ GÊxP. 

Sub. Code 
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7. What do you mean by accommodation bill? 

 £nÁ\v Esi¯À GßÓõÀ GßÚ? 

8. What is gross profit ratio? 

 ö©õzu C»õ£ ÂQu® GßÓõÀ GßÚ? 

9. Pass entry for loss of profit. 

 C»õ£ CÇ¨¤ØS SÔ¨÷£k ÁøμP. 

10. What is Premium? 

 ¤Ÿª¯® GßÓõÀ GßÚ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Prepare a trial balance with imaginary figures. 

   PØ£øÚ ÂÁμ[PøÍ øÁzx C¸¨¦ ÷\õuøÚ 

u¯õ›UPÄ®. 

Or 

 (b) Explain the need for journal and ledger. 

   SÔ¨÷£k, ÷£÷μkPÎß AÁ]¯zvøÚ ÂÍUS. 

12. (a) Calculate loss on sale of machinery under straight 
line method from the following information : 

  (i) Original cost of machinery on 1-1-90 : Rs. 80,000 

  (ii) Rate of depreciation = 5%. 

  (iii) Date of sale of machinery : 1-7-92. 

  (iv) Sale value of machinery : Rs. 50,000. 
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   ÷|º•øÓ ‰»® öPõkUP¨£mh ÂÁμ[PÎÀ C¸¢x, 

C¯¢vμ ÂØ£øÚ ‰»® HØ£mkÒÍ |mhzøu 

PnUQkP. 

   (i) C¯¢vμ ‰» Âø» 1.1.90 AßÖ ¹. 80,000. 

   (ii) ÷u´©õÚ Ãu® — 5%. 

   (iii) C¯¢vμ ÂØ£øÚ ÷uv — 1.7.92. 

   (iv) C¯¢vμ ÂØ£øÚ ¹. 50,000. 

Or 

 (b) On 1-1-1989 an organization purchases 6 machines 
for Rs. 15,000 each. The accounting year of the 
organization ends on 31st December. Depreciation at 
the rate of 10% on cost has been charged to profit & 
loss account and credited to a separate depreciation 
provision account.  Calculate depreciation. 

   1.1.89 AßÖ J¸ {ÖÁÚ® 6 C¯¢vμ[PøÍ u»õ  

¹. 15,000 Ãu® Áõ[Q¯x.  A¢u {ÖÁÚzvß 

PnUSPÒ 31st i\®£º •iÄÖQÓx. ÷u´©õÚ® 10% 

AhUP Âø»°À PnURmk, C»õ£|mhU PnUQØS 

Gkzx ö\À»¨£mhx. uÛ¯õP ÷u´©õÚ JxURk 

PnUQØS ÁμÄ øÁUP¨£mkÒÍx. ÷u´©õÚ® 

PnUQkP. 

13. (a) The bank overdraft of Balaji on 31-12-93 as per cash 
book is Rs. 9,000. From the following particulars, 
prepare bank reconciliation statement : 

  (i) Unpresented cheques Rs. 3,000. 

  (ii) Uncleared cheques Rs. 1,700. 

  (iii) Bank interest debited in the pass book only 
Rs. 500. 

  (iv) Bill collected and credited in the pass book 
only Rs. 800. 

  (v) Cheque of Renu dishonoured Rs. 500. 
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  £õ»õâ°ß öμõUP ¦zuPzvÀ ¹. 9,000 ªøP¨ £ØÖ 

31.12.93 AßÖ EÒÍx. öPõkUP¨£mh 

ÂÁμ[PÎ¼¸¢x Á[Q PnUøPa \›UPmh® £mi¯À 

u¯õº ö\´P. 

  (i) ö\¾zu¨£hõu Põ÷\õø» ¹. 3,000. 

  (ii) RÎ¯º ö\´¯õu Põ÷\õø» ¹. 1,700. 

  (iii) Á[Q Ámi, Á[Q £õì ¦zuPzvÀ ¹. 500 £ØÖ 

øÁUP¨£mhx. 

  (iv) Esi¯À ö£Ó¨£mk, ÁμÄ øÁUPP¨£mkÒÍx, 

Á[Q £õì ¦zuPzvÀ ©mk® ö\´¯¨£mhx  

¹. 800. 

  (v) ÷μÝÂß Põ÷\õø» {μõP›UP¨£mhx. ¹. 500. 

Or 

 (b) Rectify the following errors without using a 
suspense account : 

  (i) Purchase of furniture Rs. 2,500 passed 
through purchase day book. 

  (ii) Goods worth Rs. 1,000 used by the proprietor 
not recorded in the books. 

  (iii) Credit sales to Ramu Rs. 1,500 wrongly 
credited to his account. 

  (iv) Payment to Gopal Rs.450 posted to his account 
as Rs. 540. 

   R÷Ç öPõkUP¨£mkÒÍ ¤øÇPøÍ AÚõ©zx PnUS 

CÀ»õ©À \› ö\´P. 

  (i) ©μ©zx öPõÒ•uÀ ¹. 2,500ø¯, öPõÒ•uÀ 

HmiÀ £v¯ ö£ØÓx. 

  (ii) ¹. 1,000 ©v¨¦ÒÍ ö£õ¸mPøÍ E›ø©¯õÍº 

£¯ß£kzv¯øu £v¯ÂÀø». 
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  (iii) Phß ÂØ£øÚ ¹. 1,500 μõ•ÂØS 

ö\´¯¨£mhøu AÁ¸øh¯ PnUQÀ uÁÖu»õP 

ÁμÄ øÁUP¨£mkÒÍx. 

  (iv) ÷Põ£õ¾US öPõkzux ¹. 450. AÁ¸øh¯ 

PnUQPÀ ¹. 540 BP GÊu£mhx. 

14. (a) What are the advantages of bill of exchange? 

   ©õØÖ Esi¯¼ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) How will you calculate Due Date? 

   uÁøn |õøÍ GÆÁõÖ PnUQkÃº. 

15. (a) Describe how to compute claim for loss of stock. 

   \μUS |èhzøu GÆÁõÖ PnUQmk ÷Põ›UøP Âk¨¥º 

GßÖ ÂÁ›UP. 

Or 

 (b) A trader has his stock insured against fire. 
Subsequently a fire destroyed a part of the stock 
which was valued on the date of the fire at  
Rs. 60,000. The stock was insured subject to 
average clause. Stock salvaged was Rs. 12,000. 
Stock was insured for Rs. 36,000. Calculate the 
claim. 

   J¸ Â¯õ£õ› uÚx \μUQøÚ Põ¨¥k ö\´x C¸¢uõº. 

¹. 60,000 ©v¨¦ÒÍ \μUS w Â£zvÚõÀ J¸ £Sv 

÷\u® Aøh¢xÒÍx. A¢u \μUQøÚ \μõ\› \μzx RÌ 

Põ¨¥k ö\´xÒÍõº. «m] \μUQß ©v¨§ ¹. 12,000. 

\μUQøÚ Põ¨¥k ö\´u öuõøP ¹. 36,000. 

÷Põ›UøP°øÚ PnUQkP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following trial balance of Ravi, prepare Trading 

and Profit and Loss Account for the year ended December 

31st 1993 and a Balance Sheet as on the table. 

Particulars Debit  Credit

Capital —  40,000

Sales —  25,000

Purchases 15,000  —

Salaries 2,000  —

Rent 1,500  —

Insurance 300  —

Drawings 5,000  —

Machinery 28,000  —

Bank balance 4,500  —

Cash 2,000  —

Stock 1-1-93 5,200  —

Debtors 2,500  —

Creditors —  1,000

Total 66,000  66,000

 Adjustment required: 

 (a) Stock on 31-12-93 Rs. 4,900. 

 (b) Salaries unpaid Rs. 300. 

 (c) Rent paid in advance Rs. 200. 

 (d) Insurance prepaid Rs. 90. 
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 v¸. μÂ AÁºPÎß C¸¨¦ ÷\õuøÚPÎ¼¸¢x 1993 

Á¸hzvß Â¯õ£õμ P/S, C»õ£ |mhU PnUS ©ØÖ® 

C¸¨¦{ø» SÔ¨¦ u¯õº ö\´P.  

Â£μ[PÒ £ØÖ 

¹. 

 ÁμÄ

¹. 

•uÀ —  40,000

ÂØ£øÚ —  25,000

öPõÒ•uÀ 15,000  —

\®£Í® 2,000  —

ÁõhøP 1,500  —

Põ¨¥k 300  —

Gk¨¦PÒ 5,000  —

C¯¢vμ® 28,000  —

Á[Q C¸¨¦ 4,500  —

öμõUP® 2,000  —

\μUS 1-1-93 5,200  —

PhÚõÎPÒ 2,500  —

PhÜ¢÷uõº —  1,000

ö©õzu® 66,000  66,000

 ¤ßÁ¸® \›UPmkuÀPøÍ PnUQÀ öPõÒP : 

 (A) \μUS C¸¨¦ 31.12.93 ¹. 4,900. 

 (B) \®£Í® öPõk£h÷Ási¯x ¹. 300. 

 (C) •ßTmi÷¯ ö\¾zu¨£mh ÁõhøP ¹. 200. 

 (D) •ßøÁ¨¦ ö\»ÄPÒ ¹. 90. 
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17. X Co. Ltd. Purchased a lease of Rs. 50,000 on 1-1-90 to be 
replaced at the end of five years. For this purpose, one 
insurance policy is taken out for which the annual 
premium is Rs. 9,400. At the end of the period the lease is 
renewed for Rs. 45,000. Show the various ledger accounts 
in the books of the company. Explain insurance policy 
method of depreciation. 

 1.1.90 AßÖ ¹. 50,000US X  Aß ÷Põ {ÖÁÚ®  

5 Á¸h[PÐUPõÚ SzuøP JßÔøÚ Gkzux. CuØPõP J¸ 

Põ¨¥mk vmhzøu ¹. 9,400 BsiØS \¢uõ GßÖ •iÄ 

ö\´x •u½k ö\´ux. 5 Á¸h •iÂÀ ©õØÖu¾UPõP HØ£õk 

ö\´x C¸¢ux. ¹. 45,000 AUSzuøP ¦x¨¤UP¨£mhx.  

÷uøÁ¯õÚ GÀ»õ SÔ¨÷£k ©ØÖ® ÷£÷μkPøÍ u¯õº ö\´x 

GÊxP. Põ¨¥mk ÷u´©õÚ •øÓPøÍ ÂÍUSP. 

18. An accountant could not tally the trial balance. The 
difference was temporarily placed to suspense account for 
preparing the final accounts. The following errors were 
later discovered. 

 (a) Commission of Rs. 50 paid, was posted twice, once 
to discount account and once to commission account. 

 (b) The sale book was under cast by Rs. 100. 

 (c) A sale of Rs. 278 to Raja through correctly entered 
in sales book, was posted wrongly to his account as 
Rs. 386. 

 (d) A purchase from Nataraj of Rs. 184, through 
correctly entered in purchases book, was wrongly 
debited to his personal account. 

 (e) Discount column of the receipt side of the cash book 
was wrongly added as Rs. 280 instead of Rs. 240. 

  You are required to pass the necessary rectifying 
entries and prepare suspense account. 
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 PnUPõÍº uß PnUS \›Pmh •i¯ÂÀø». CvÀ EÒÍ 

Âzv¯õ\zøu uØPõ¼P©õP J¸ AÚõ©zx P/S ©õØÔ CÖv 

PnUSPøÍ u¯õº ö\´uõº. ¤ÓS SÔ¨¤mh ¤øÇPøÍ 

Psk¨¤izuõº. 

 (A) uμS ¹. 50 ö\¾zv¯øu, C¸ •øÓ PnUQÀ PõmiÚõº. 

PÈÄ  P/S ©ØÖ® uμS P/S Põmi²ÒÍõº. 

 (B) ÂØ£øÚ ¦zuP® ¹. 100 SøÓzx Põmh¨£mkÒÍx. 

 (C) ¹. 278 μõáõÂh® ÂØ£øÚ ö\´ux. ÂØ£øÚ 

¦zuPzvÀ £v¯£mhx, BÚõÀ uÁÖu»õP AÁμx 

PnUQÀ ¹. 386 GÚ. 

 (D) |hμõä°h® ¹. 184 öPõÒ•uÀ ö\´ux, öPõÒ•uÀ 

¦zuPzvÀ £v¯¨£mhx. BÚõÀ AÁ¸øh¯ PnUQÀ 

£ØÖ øÁUP¨£mkÒÍx uÁÖu»õP C¸UQÓx. 

 (E) PÈÄ Á›, ö£ÖuÀ £UPzvÀ, öμõUP ¦zuPzvÀ 

uÁÖu»õP ¹. 240ØS £v»õP ¹. 280 GÚ Tmh¨£mhx. 

  ÷uøÁ¯õÚ \›PmkuÀ £vÄPøÍ²® AÚõ©zx 

PnUøP u¯õº ö\´P. 

19. Satish draws two bills of exchange on 1-1-1999 for  
Rs. 6,000 and Rs. 10,000 respectively. The bill of 
exchange for Rs. 6,000 is for 2 months, while the bill for 
Rs. 10,000 is for 3 months. These bills are accepted by 
Kannan to settle the amount he owed to Satish.  
On 4th March, 1999, Kannan requests to renew the first 
bill with Interest at 12% p.a. for a period of 2 months. 
Satish agrees to this proposal. On 20th March 1999 
Kannan returns the acceptance for Rs. 10,000, interest 
rebate i.e., discount Rs. 100. 

 Before the due date of the renewed bill, Kannan becomes 
insolvent and only 70 paise in a rupee was recovered from 
his estate. You are asked to show the journal entries in 
the books of Satish and Kannan. 
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 \vç Gß£Áº ©õØÖ Esi¯ø» ¹. 6,000 ©ØÖ® ¹. 10,000 

•øÓ÷¯ 1.1.1999 AßÖ GÊv²ÒÍõº. ¹. 6,000ØS BÚ 

Esi¯À 2 ©õuzvØS®, ¹. 10,000ØPõÚ Esi¯À  

3 ©õuzvØS GÊu¨£mkÒÍx. Psnß C¸ Esi¯ø»²® 

\wèUS ö\miÀ ö\´ÁuõP TÔÚõº. 4.3.1999 Psnß,  

¹. 6,000 AÚ •uÀ Esi¯ø» 12% BsiØS Ámi 

ÃuzvÀ 2 ©õuzvØS ¦x¨¤zxÒÍõº. \wè CuØS J¨¦U 

öPõshõº. 20.3.99 AßÖ Psnß AÁ¸øh¯ J¨¦uø»  

¹. 10,000 ö\¾zv ©ØÖ® Ámi PÈÄ ¹. 100 ö£ØÓõØ. 

•vºÄ ÷uvUS •ß Psnß ÁøP¯ØÓÁμõQ ÂkQÓõº.  

70 Põ_PÒ Ãu® •ÊU PnUS® wºUP¨£kQÓx. 

SÔ¨÷£kPøÍ \wè ©ØÖ® Psnß ¦zuPzvÀ GÊxP. 

20. A fire broke out in the warehouse of Bad Luck Ltd.  
On 30th Sep. 1994. The company wishes to file a claim 
with the insurance company for loss of stock and gives 
you the following information to enable you to prepare a 
statement of the amount to be claimed. 

 (a) The last accounts of the company were prepared on 
3 1-12-1993. 

 (b) Sundry debtors on 31-12-93 Rs. 80,000. 

 (c) Sundry debtors on 30-9-94 Rs. 60,000. 

 (d) Cash collected from debtors Rs. 2,88,000. 

 (e) Stock on 31-12-93 Rs. 30,000. 

 (f) Sundry creditors on 31-12-93 Rs. 2,00,000. 

 (g) Sundry creditors on 30-9-94 Rs. 4,00,000. 

 (h) Cash paid to creditors Rs. 40,000. 

 (i) Goods returned to creditors Rs. 10,000. 

 (j) Rate of gross profit to sales 20%. 

  Prepare the necessary accounts, showing all your 
workings to arrive at the amount of claim. 
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 Bad Luck {ÖÁÚzvß Qh[QÀ 30.9.94 AßÖ w Â£zx 

HØ£mhx. P®ö£Û uß ÷Põ›UøPø¯ Põ¨¥mk  

{ÖÁÚzvh® ÷Põ¸ÁuØS RÌPsh Â£μ[PøÍ øÁzx 

P®ö£ÛUS HØ£mh |èhzøu \μUQÚõÀ, GÆÁÍÄ GßÖ 

PnURk ö\´x u¸P. 

 (A) Pøh]¯õP PnUSPøÍ u¯õº ö\´ux 31.12.93. 

 (B) £Ø£» PhÚõÎPÒ 31.12.93 AßÖ ¹. 80,000. 

 (C) £Ø£» PhÚõÎPÒ 30.9.94 AßÖ ¹. 60,000. 

 (D) PhÚõÎPÎh® ö£ØÓ öμõUP® ¹. 2,88,000. 

 (E) \μUQ¸¨¦ 31.12.93 ¹. 30,000. 

 (F) £Ø£» PhÜ¢÷uõº 31.12.93 ¹. 2,00,000. 

 (G) £Ø£» PhÜ¢÷uõº 30.9.94 ¹. 4,00,000. 

 (H) PhÜ¢÷uõ›h® ö\¾zv¯ öμõUP® ¹. 40,000. 

 (I) \μUS v¸¨£® PhÜ¢÷uõ›h® ¹. 10,000. 

 (J) 20%  ö©õzu C»õ£® ÂØ£øÚ°À. 

  ÷uøÁ¯õÚ PnUSPøÍ u¯õº ö\´x, GÀ»õ 

ÂÁμ[Pø» GÊv ÷Põ›UøPø¯ PnURkP. 

 
––––––––––––– 
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F–1537   

B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

First Semester 

Commerce with Computer Applications 

RELATIONAL DATABASE MANAGEMENT SYSTEM 
(RDBMS) 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is a database system? 

 uμÄzuÍ J¸[Q¯® GßÓõÀ GßÚ? 

2. Define the term DOMAIN. 

 DOMAIN°ß C»UPn® GÊxP. 

3. What is an attribute? 

 uμÄzuÍ £s¦ GßÓõÀ GßÚ? 

4. What is a primary key? 

 •ußø© Âø\ GßÓõÀ GßÚ? 

5. Define BCNF. 

 BCNF°ß C»UPn® GÊxP. 

Sub. Code 
7BCC1C2 
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6. Write the basic form of Commit statement. 

 ‘‘Commit’’ AÔUøP°ß Ai¨£øh ÁiÁzvøÚ GÊxP. 

7. What is an ACID property? 

 ‘‘ACID’’ £s¦ GßÓõÀ GßÚ? 

8. What is a deadlock?  

 ‰mk {ø» GßÓõÀ GßÚ? 

9. What is buffer manager? 

 Cøhzuõ[S ÷©»õÍº GßÓõÀ GßÚ? 

10. Define the term ISAM. 

 ISAM°ß C»UPn® GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

All questions carry equal marks. 

11. (a) What are the responsibilities of a DBA? 

  DBA °ß ö£õÖ¨¦PÒ ¯õøÁ? 

Or 

 (b) Describe the structure of DBMS. 

  DBMS°ß Aø©¨¤øÚ Â£μ©õP GÊxP. 

12. (a) What is the difference between a candidate key and 
the primary key of a relation? What do you mean by 
super key? Explain with example. 

  ÷Ám£õÍº Âø\ ©ØÖ® •ußø© Âø\ CÁØÔß 

Âzv¯õ\[PøÍ GÊxP. ÷©®£mh Âø\°ß 

Euõμnzxhß ÂÍUS. 

Or 
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 (b) How will you create, alter and destroy a table? 

Explain with example. 

  J¸ uμÄzuÍ AmhÁønø¯ GÆÁõÖ E¸ÁõUSÁx, 

©õØÖÁx, AÈ¨£x GßÖ Euõμnzxhß ÂÍUSP. 

13. (a) What are Nested Queries? Explain with example. 

  EÒÍø© ÂÚÁÀ GßÓõÀ GßÚ? ÂÍUP©õP  

Euõμnzxhß GÊxP. 

Or 

 (b) Explain logical connective and aggregate operators 
with example. 

  uºUP Ÿv¯õÚ Cøn¨¦, ©ØÖ® ©v¨¥mk SÔ°øÚ 

Euõμnzxhß ÂÍUSP. 

14. (a) Write short notes on Time-Stamp protocol. 

  Time-Stamp ö|Ô•øÓ £ØÔ ]ÖSÔ¨¦ ÁøμP. 

Or 

 (b) Explain the different states of transaction with neat 
diagram. 

  £À÷ÁÖ £›ÁºzuøÚ {ø»PÒ SÔzx ÂÍUP 

Áøμ¨£hzxhß ÂÍUSP. 

15. (a) Discuss clustered indexes. 

  öPõzx SÔ±kPÒ SÔzx ÂÁ›. 

Or 

 (b) Discuss about Composite search key. 

  P»øÁ ÷uk Âø\ £ØÔ ÂÍUP©õP GÊxP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Draw and explain the architecture of DBMS.  

 uPÁÀ •Põø©zxÁ J¸[Q¯zvß Pmhø©¨¦ SÔzx 

Áøμ¨£hzxhß ÂÍUSP. 

17. Illustrate the enhanced ER Modeling in detail. 

 ÷©®£kzu¨£mh ER–©õv›°øÚ ÂÍUP©õP 

GkzxøμUPÄ®. 

18. Discuss Normalization in detail. 

 C¯À£õUP® SÔzx Â›ÁõP TÖP. 

19. How will you implement atomicity and durability in a 
transaction? 

 J¸ £›ÁºzuøÚ°À AqU÷Põ¨¦ ©ØÖ® B²ÎøÚ 

GÆÁõÖ ö\¯À£kzxÁõ´ GÚ GÊxP. 

20. How does a Tree-based index work and when is it most 
effective? 

 ©μ® \õº¢u SÔ±k GÆÁõÖ ö\¯À£kQÓx? Ax BØÓÀ 

ªS¢uuõP G¨÷£õx Aø©²® GÚÄ® GÊxP.  

  

————— 
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F–1538   

B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Second Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY — II 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by Life Membership Fees? 

 B²Ò EÖ¨¤Úº Pmhn® Gß£x ¯õx? 

2. Differentiate between Capital and Revenue. 

 ‰»uÚ ©ØÖ® Á¸Áõ´ ÷ÁÖ£kzxP. 

3. What are the circumstances under which account current 
is to be prepared? 

 |øh•øÓU PnUS u¯õ›UP¨£k® `Ì{ø»PÒ ¯õøÁ? 

4. What is Grace days? 

 P¸øn |õmPÒ GßÓõÀ GßÚ? 

5. Define Consignment. 

 AÝ¨¥k – Áøμ¯ÖUP. 

6. What is Normal loss? 

 \õuõμn |mh® GßÓõÀ GßÚ? 

Sub. Code 
7BCC2C1 
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7. Who are called Co-ventures? 

 CønÂøÚbºPÒ Gß£Áº ¯õº? 

8. Define Joint venture. 

 Cøn&ÂøÚ&Áøμ¯Ö. 

9. What is Single entry system? 

 JØøÓ £vÄ •øÓ GßÓõÀ GßÚ? 

10. What is statement of Affairs? 

 {ø» AÔUøP GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following find how much is to be shown in 

Income and Expenditure Account for the year 

ending 31.12.2014 for Subscription. 

       Rs. 

  Subscription received during the year 28,000 

  Subscription outstanding on 1.1.2014 2,400 

  Subscription outstanding on 31.12.2014 3,000 

  Subscription received in advance on   

  1.1.2014    1,800 

  Subscription received in advance on   

  31.12.2014    1,000 
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  RÌUPsh Â£μ[PÎ¼¸¢x 31.12.2014&À 

•iÁøh²® BsiØPõÚ Á¸Áõ´ ö\»ÂÚU 

PnUQÀ \¢uõ öuõøP GÆÂu® Põmh¨£k®. 

       ¹. 

  \¢uõ ö£ØÓø©& (|h¨¦ BsiØPõÚx) 28,000 

  01.1.2014À Áμ÷Ási¯ \¢uõ 2,400 

  31.12.2014À Áμ÷Ási¯ \¢uõ 3,000 

  01.1.2014À •ß Tmi¨ö£ØÓ \¢uõ 1,800 

  31.12.2014À •ß Tmi¨ö£ØÓ \¢uõ 1,000 

Or 

 (b) Distinguish between a Income and Expenditure 

account and a Profit and Loss Account. 

  Á¸©õÚ ö\»Ä PnUQØS®, C»õ£ |mh PnUQØS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

12. (a) Xavier owes to Yusuf the following sums: 

       Rs. 

  On 15th March 2009  600 

  On 20th April 2009   800 

  On 15th May 2009  1,000 

  On 31st May 2009   400 

  Find the Average due date. What interest will 

Xavier pay to Yusuf if the actual payment is made 

on 9th July 2009 at 9% interest? 
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  ÷\Â¯º Gß£Áº ³\® Gß£Á¸US öPõkUP ÷Ási¯ 

öuõøP ¤ßÁ¸©õÖ: 

       ¹. 

  2009 ©õºa 15À   600 

  2009 H¨μÀ 20À   800 

  2009 ÷© 15À  1,000 

  2009 ÷© 31À   400 

  \μõ\› uÁøn |õøÍ Psk¤i ãø» 9. 2009 À ÷\Â¯º 

³\¨US £n® ö\¾zvÚõÀ 9% Ámi ÃuzvÀ AÁº 

öPõkUP ÷Ási¯ Ámi GÆÁÍÄ? 

Or 

 (b) How average due date will be calculated? 

  \μõ\› uÁøn |õøÍ Psk¤i¨£x G¨£i? 

13. (a) Siva consigned 1000 kg vegetables costing Rs.4,500. 
Expenses incurred were Rs.600. If loss due to 
natural deterioration inequality is of 10 kg and if 
810 kg were sold. Calculate cost of stock at the end. 

  ]Áõ Gß£Áº 1000 Q÷»õ Põ´PÔPøÍ ¹.4,500 

©v¨¦øh¯øu AÝ¨¥k ö\´uõº. AuØPõÚ ö\»Ä 

¹.600 C¯ØøP AÈÂÚõÀ 10 Q÷»õ |mhø©¢ux.  

810 Q÷»õ ÂØ£øÚ ö\´uõÀ «u•ÒÍ \μUQß 

©v¨ø£ PnUQkP. 

Or 

 (b) Chandran of Chennai consigned 200 packets of 
Cosmetics each costing Rs.600 to his agent Mahesh 
of Calcutta. He paid Rs.1000 towards Freight and 
Insurance. Consignee took delivery of the goods and 
spent Rs.3,400 as clearing charges and Rs.1,400 as 
godown rent. Consignee sells away 140 packets.  
30 packets were destroyed at the godown of 
Mahesh. Calculate the value of abnormal loss.  
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  ö\ßøÚø¯a ÷\º¢u \¢vμß Gß£Áº PÀPzuõÂÀ 

EÒÍ ©÷Pè Gß£Á¸US 200 ö£miPÒ AÇS \õuÚ¨ 

ö£õ¸mPøÍ JÆöÁõßÖ® ¹.600 Ãu® AÝ¨¥k 

ö\´uõº. AÁº Ási ÁõhøP ©ØÖ® Põ¨¥mka 

ö\»ÄUPõP ¹.1,000 ö\»Âmhõº. ö£õ¸mPÒ Gk¨¦ 

ö\»Ä ¹.3,400 ©ØÖ® £shP Põ¨¦ AøÓ ÁõhøP 

¹.1,400 BQ¯ÁØøÓ AÝ¨¥k ö£Ö|º HØÖU 

öPõshõº. 140 £õUöPmkPÒ ÂØ£øÚ ö\´¯¨£mhÚ. 

30 £õUöPmkPÒ ©÷Pæß £shP Põ¨£øÓ°À AÈ¢x 

÷£õ°Ú. AÈ¢x÷£õÚ \μUSPÎß A\õuõμn©õÚ 

|mh® GÆÁÍÄ Gß£øuU PnUQkP. 

14. (a) A and B enter into a Joint venture, sharing profits 
in the ratio of 5: 3. A supplies goods worth Rs.42,000 
and incurs Rs.3,000 as expenses. B supplies goods 
worth Rs.38,000 and incurs Rs.2,000 as expenses.  
B is entitled to a Commission at 10% on sales.  
B sells goods for Rs.1,20,000. B settles the account 
by the cheque. Prepare Joint venture. Account and 
‘B’s account in the books of ‘A’.  

  5: 3 GßÓ ÂQuzvÀ C»õ£ £QºÂØS J¨¦U öPõsk 

A, B BQ÷¯õº CønÂøÚ |hzxQßÓÚº.  

‘A’ ¹.42,000 ©v¨¦ÒÍ \μUQøÚ ÁÇ[SQÓõº. ¹.3,000 

ö\»Ä ö\´QÓõº. B ¹.38,000 ©v¨¦ÒÍ \μUQøÚ 

ÁÇ[SQÓõº. ¹. 2,000 ö\»Ä ö\´QÓõº.  

‘B’ ÂØ£øÚ°À 10% PÈÄ ö£Ó E›ø© ö£ØÖÒÍõº. 

‘B’ \μUQøÚ ¹.1,20,000 US ÂØQÓõº. ‘B’ Põ÷\õø» 

‰»® PnUQøÚ wºÄ ö\´QÓõº. CønÂøÚ P/S 

©ØÖ® ‘A’ HkPÎÀ ‘B’°ß PnUQøÚ u¯õº ö\´P. 

Or 
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 (b) What are the various methods of preparing Joint 

Venture Account? 

  CønÂøÚ PnUQøÚ u¯õ›US® £À÷ÁÖ 

•øÓPøÍ TÖP. 

15. (a) Sales Rs.80,000; Purchases Rs.60,000; Stock at the 

end Rs.8,000, Los on cost 
6
1

. Calculate stock in the 

beginning. 

  ÂØ£øÚ ¹.80,000; öPõÒ•uÀ ¹.60,000; CÖv 

\μUQ¸¨¦ ¹.8,000. AhUP Âø»°À |mh® 
6
1

 

öuõhUPa \μUQ¸¨ø£ PnUQkP. 

Or 

 (b) Prepare Debtors Account from the following: 

      Rs. 

  Opening Balance of Debtors 73,000 

  Cash Received from Debtors 1,00,000  

  Credit sales   1,25,000 

  Closing balance of Debtors 98,000 

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x PhÚõÎPÒ PnUQøÚ 

u¯õ›UPÄ®.  

       ¹. 

  PhÚõÎPÒ Bμ®£ C¸¨¦ 73,000 

  PhÚõÎPÎhª¸¢x ö£ØÓ öμõUP® 1,00,000  

  Phß ÂØ£øÚ    1,25,000 

  PhÚõÎPÎß CÖv C¸¨¦ 98,000 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. From the following particulars. Prepare an Income and 
Expenditure Account for the year ended 31.3.2009. 

Receipts Rs. Payments Rs. 
To Balance b/d   By salaries 36,000
     Cash 550  
     Bank 4,550 By Rent 6,000
To Subscription (including  By Printing of  
Rs.2,000 for 2009-10) 30,000 stationary 1,450
To Interest on Investment 15,000 By Postage 250
To Bank interest 100 By Bicycle purchase 950
To sale of scooter 2,500 By savings bonds 6,800

  By Balance c/d  
       Cash 120
       Bank 1,130
 52,700  52,700

 Subscription include Rs.120 for 2007-2008. Also rent 
include Rs.500 paid for March 2007. Subscriptions 
amounting to Rs.150 have still to be collected for  
2008-2009 Rent for March 2009 has still to be paid and 
Rs.25 are outstanding against a stationery bill. 

 RÌPõq® Â£μ[PÎ¼¸¢x 31.03.2009 B® |õ÷Íõk 

•iÁøh²® BskUS›¯ Á¸Áõ´ ö\»ÂÚU PnUøP 

u¯õ›UP. 
ö£ÖuÀPÒ ¹. ö\¾zuÀPÒ ¹. 

C¸¨¦   Fv¯® 36,000

     öμõUP® 550 ÁõhøP 6,000

     Á[Q 4,550 Aa_ GÊx ö£õ¸Ò 1,450

\¢uõ (2009&10   Ag\À ö\»Ä 250

BskUS›¯   ø\UQÀ Áõ[Q¯x 950

¹.2,000•® ÷\º¢x) 30,000 ÷\ª¨¦ ¤øn•ÔPÒ 

  Áõ[Q¯ø© 6,800

•u½kPÎ¼¸¢x Ámi 15,000 C¸¨¦ 

Á[Q Ámi 100      öμõUP® 120

ìTmhº ÂØÓø© 2,500      Á[Q 1,130

 52,700  52,700
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 ÷©÷» öPõkUP¨£mkÒÍ \¢uõÂÀ 2007&2008® 

BsiØS›¯ \¢uõ ¹.120 ÷\º¢v¸UQÓx. ÷©¾® 

ÁõhøP°À 2008 ©õºa ©õu ÁõhøP ¹.500 ÷\º¢v¸UQÓx. 

|h¨¦ 2008&2009 B® Bsk \¢uõ ¹.150 CßÚ•® 

Á`¼UP¨£hõ©À C¸UQÓx. 2009 ©õºa ©õu ÁõhøP 

CßÚ•® ö\¾zu¨£hÂÀø». CßÝ® öPõk£hõ©¾ÒÍ 

GÊx ö£õ¸Ò ö\»Ä ¹.25. 

17. Kasthuri owes Viji the following sums of money due on 
the dates stated 

 Rs.400 due on 5th Jan 2009 

 Rs.200 due on 20th Jan 2009 

 Rs.800 due on 4th Feb 2009 

 Rs.100 due on 26th Feb 2009 

 Rs.50 due on 10th March 2009 

 Calculate such a date when payment may be made by the 
Kasthuri in one instalment resulting in no loss to either 
party. 

 Pìy› RÌUPsh ÷uvPÎÀ öuõøPPøÍ ÂâUS öPõkUP 

÷Ási²ÒÍx. 

 ¹.400, 2009 áÚÁ› 5À öPõkUP ÷Ási²ÒÍx 

 ¹.200, 2009 áÚÁ› 20À öPõkUP ÷Ási²ÒÍx  

 ¹.800, 2009 ¤¨μÁ› 4À öPõkUP ÷Ási²ÒÍx  

 ¹.100, 2009 ¤¨μÁ› 26À öPõkUP ÷Ási²ÒÍx 

 ¹.50, 2009 ©õºa 10À öPõkUP ÷Ási²ÒÍx 

 ¯õ¸US® |mh÷©Ø£hõ©À Pìy›¯õÀ J÷μ ÷uv°À GÀ»õ 

uÁønPøÍ²® ö\¾zu Â¸®¤ÚõÀ •vºÄ ÷uvø¯ 

PnUQkP. 
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18. X Consign to Y 1,000 Fans costing Rs.180 each at invoice 

price Rs.200 per fan. Pays Rs.1,400 for expenses. ‘Y’ 
remits Rs.5,000 as advance and spent Rs.1,400 for 
expenses. ‘Y’ sells 600 fans at Rs.260 each for cash. ‘Y’ 
remits the balance due by a bank draft after deducing 
commission 5% and declared commission at 10%. 

 The Consignee incur a bad debt of Rs.300. 
 Pass entries and prepare necessary ledger account in the 

body of both the parties. 
 ‘X’ Gß£Áº ‘Y’ Gß£Á¸US JßÖ ¹.180 AhUP•ÒÍ 1000 

Â]ÔPøÍ ¹.200 Chõ¨¦ Âø»°mk AÝ¨¥k ö\´QÓõº. 
‘X’ ö\´u ö\»Ä ¹.1,400, ¹.5,000 •ß£n©õP ‘Y’ AÝ¨¤ 

øÁUQÓõº. AÁº ö\´u ö\»Ä ¹.1,400, ‘Y’ 600 Â]ÔPøÍ 

JßÔß Âø» ¹.260 GÚ öμõUPzvØS ÂØÓõº. PÈÄ 5%&® 

¤øn PÈÄ 1% \uÂuzøu²® PÈzu ¤ß «u•ÒÍ 

öuõøPUS Á[Q £nÂøhø¯ ‘Y’ AÝ¨¤ øÁzuõº. 

AÝ¨¥k ö£Ö|¸US HØ£mh ÁμõUPhß ¹.300 C¸Áº 

Hmi¾® SÔ¨÷£mk £vÄPÐ®. ÷£÷μmk PnUøP²® u¸P. 

19. Vinayagam and Murali entered into a Joint venture to 
buy and sell timber. Vinayagam bought timber for 
Rs.2,00,000 and spent Rs.20,000 towards Freight. He 
sent the timber to Murali. Murali on receiving the goods 
accepted a three months bill for Rs.40,000. Vinayagam 
discounted the bill for Rs.38,000. Murali sold the entire 
goods for Rs.3,20,000 and his expenses totalled Rs.10,000. 
Vinayagam and Murali agred to share profits and losses 
in the ratio of 3: 2. 

 Prepare Joint venture account and Murali Account in the 
books of Vinayagam. 

 Â|õ¯P•® •μÎ²® ÷\º¢x ©μ[PøÍ Áõ[Q ÂØP J¸ 

Cøn ÂøÚø¯ ÷©ØöPõshÚº. Â|õ¯P® ¹.2,00,000US 

©μ[PøÍ Áõ[Q •μÎUS AÝ¨¤Úõº. AÝ¨¦ÁuØS \zu® 

¹.20,000 Â|õ¯P® öPõkzuõº. ©μ[PøÍ¨ ö£ØÓ¤ß 3 ©õu 

©õØÖa^mk ¹.40,000 US HØ¦ ö\´x •μÎ Â|õ¯zvh® 

AÝ¨¤Úõº. Â|õ¯P® Aøu ¹.38,000US Ámh® ö\´uõº. 

•μÎ GÀ»õ ©μ[PøÍ²® 3,20,000US ÂØÓõº. •μÎ ö\´u 

ö\»Ä ¹.10,000 C»õ£ |mh[PøÍ 3:2 GßÓ ÂQuzvÀ 

¤›UP J¨¦U öPõshÚº. 

 Â|õ¯Pzvß HkPÎÀ xønÂøÚ PnUøP²® •μÎ°ß 

PnUøP²® u¯õº ö\´P. 
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20. Raman keeps his records under single Entry system. 

Assets and liabilities on 31.12.2008 and 31.12.2009 stood 
as follows: 

 31.12.2008 31.12.2009

 Rs. Rs.

Cash 10 2,000

Bank 990 10,000

Stock 7,000 10,000

Sundry Debtors 15,000 20,000

Furniture 3,000 3,000

Sundry creditors 3,000 6,000

 He introduced as additional capital of Rs.3,000 during 
2009. He withdrew Rs.7,000 for his domestic purpose. 
Find out the profit. 

 μõ©ß JØøÓ¨£vÄ •øÓ°À uß HkPøÍ £μõ©›UQÓõº. 

31.12.2008 ©ØÖ® 31.12.2009 ÷uvPÎÀ AÁμx ö\õzxUPÒ 

©ØÖ® ö£õÖ¨¦PÒ RÌPshÁõÖ EÒÍÚ. 
 31.12.2008 31.12.2009

 ¹. ¹. 

öμõUP® 10 2,000

Á[Q°À C¸¨¦ 990 10,000

\μUQ¸¨¦ 7,000 10,000

£Ø£» PhÚõÎPÒ 15,000 20,000

©øÚxøn¨ ö£õ¸mPÒ 3,000 3,000

£Ø£» PhÜ¢÷uõº 3,000 6,000

 AÁº ÷©¾® ¹.3,000 TkuÀ •uÀ 2009&® BsiÀ 

HØ£kzvÚõº. AÁº uÚx ö\õ¢u ö\»ÂØPõP ¹.7,000 

Gk¨¦PÒ Gkzuõº. C»õ£zøu PnUQkP. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Second Semester 

Commerce with Computer Application 

COMPUTER NETWORKS 

(CBCS – 2017  onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define WAN. 

 WAN Ûø¯ Áøμ¯Ö. 

2. What is an interface? 

 Cøh•P® GßÓõÀ GßÚ? 

3. What is bit stuffing? 

 ¤m vo¨¦ GßÓõÀ GßÚ? 

4. Write any two functions of data link Layer. 

 uμÄ Cøn¨¦ AkUS°ß Cμsk ö\¯À£õkPøÍ GÊxP. 

5. What is a bridge? 

 £õ»® GßÓõÀ GßÚ? 

6. What is a virtual circuit?  

 ö©´{Pº _ØÖ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is TCP/IP? 

 TCP/IP GßÓõÀ GßÚ? 

8. What is remote login? 

 öuõø» EÒ~øÇÄ GßÓõÀ GßÚ? 

9. Define steganography. 

 Steganography GßÓõÀ GßÚ? 

10. Write Kerchoff’s principle. 

 Kerchoff °ß öPõÒøP°øÚ GÊxP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Write short notes on Topology. 

  Pmhø©¨¤¯À SÔzx ]Ö SÔ¨¦ GÊxP. 

Or 

 (b)  Write short notes on Transmission modes.  

uPÁÀ £›©õØÓ •øÓPÒ £ØÔ ]Ö SÔ¨¦ GÊxP. 

12. (a) Briefly explain about Error Correction codes. 

  ¤øÇ v¸zu® SÔ±kPÒ SÔzx _¸UP©õP GÊxP. 

Or 

 (b)  Explain the Simplex stop and wait protocol. 

   “Simplex {Özu® ©ØÖ® Põzv¸” ö|Ô•øÓ £ØÔ 

Â›ÁõP GÊxP.  
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13. (a) What are the difference between Virtual Circuit and 

datagram subnet? 

  ö©´{Pº _ØÖ ©ØÖ® datagram subnet °ß EÒÍ 

Âzv¯õ\[PøÍ GÊxP. 

Or 

 (b)  What is Switching? Explain any two types of 
switching techniques. 

   {ø»©õØÓ® GßÓõÀ GßÚ? Auß Cμsk ÁøP¯õÚ 

EzvPøÍ GÊxP. 

14. (a) Describe the working principles of internet. 

  Cøn¯® ö\¯À£k® öPõÒøPPÒ SÔzx Â›ÁõP 

GÊxP. 

Or 

 (b)  How does an E-mail works? 

   ªßÚg\À GÆÁõÖ ö\¯À£kQÓx? 

15. (a) Explain the concept of traditional crytography. 

  ©øÓö©õÈ°ß £õμ®£›¯ P¸zxPøÍ ÂÍUSP. 

Or 

 (b)  Explain any one Encryption method. 

   ©øÓU SÔ±hõUPzvß HuõÁx J¸ ö\´»•øÓ°øÚ 

ÂÍUP©õP GÊx. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain about OSI Reference Model. 

 OSI SÔ¨¦ ©õv›°øÚ ÂÍUP©õP GÊxP. 

17. Explain ALOHA and CSMA Multiple Access Protocols. 

 £» AqPÀ ö|Ô•øÓPÍõÚ ALOHA ©ØÖ® CSMA SÔzx 

Â›ÁõP GÊxP. 
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18. Explain three Routing Algorithms. 

 H÷uÝ® ‰ßÖ ÁÈ¨£õøu ÁÈ•øÓPÒ £ØÔ GÊxP. 

19. Describe the functions of Connection- oriented and 
Connectionless services. 

 Cøn¨¦ \õº¢u ©ØÖ® Cøn¨¦ \õμõ ÷\øÁPÎß 

ö\¯À£õkPÒ SÔzx Â›ÁõP GÊx. 

20. Explain Symmetric Key Cryptography. 

 \©a^º Âø\ SÔ¯õUPÂ¯À £ØÔ ÂÍUP©õP GÊxP. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Third Semester 

Commerce with Computer Application 

TALLY 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is a ledger in Tally? 

 Tally – °À÷£÷μk GßÓõÀ GßÚ? 

2. Name any four accounting features. 

 GøÁ÷¯Ý® |õßS PnUQ¯À A®\[PøÍ SÔ¨¤kP. 

3. What are the primary groups of revenue nature? 

 Á¸Áõ´ C¯À¤ß •ußø© SÊUPÒ ¯õøÁ? 

4. What is Budget Variance? 

 vmh ©õÖ£õk GßÓõÀ GßÚ? 

5. What is invoice entry? 

 Âø»¨£mi¯À ~øÇÄ GßÓõÀ GßÚ? 

6. How to display balance sheet in Tally? 

 C¸¨¦{ø» SÔ¨¦ – I Tally – °À GÆÁõÖ Põs¤¨£x? 

7. What is group summary? 

 SÊ _¸UP® GßÓõÀ GßÚ? 

Sub. Code 
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8. What is Physical Stock Register? 

 ÷|›øh \μUS £v÷Ák GßÓõÀ GßÚ? 

9. What is FTP? 

 FTP GßÓõÀ GßÚ? 

10. What is XML? 

 XML GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the golden rules of accounting? 

  PnUQ¯À u[P ÂvPøÍ GÊxP. 

Or 

 (b) Explain the pre-defined groups in Tally. 

  Tally – °À •ß Áøμ¯ÖUP¨£mh SÊUPÒ £ØÔ 

ÂÁ›. 

12. (a) Explain the methods of stock valuation. 

  \μUS ©v¨¥mk •øÓPøÍ £ØÔ ÂÁ›. 

Or 

 (b) Explain stock group creation. 

  \μUS SÊ E¸ÁõUP® £ØÔ ÂÁ›. 

13. (a) Explain voucher types with example. 

  ^mk ÁøPPøÍ Euõμnzxhß ÂÁ›. 

Or 

 (b) Explain inventory allocation. 

  \μUS JxURk £ØÔ ÂÁ›. 
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14. (a) Explain printing options. 

  Aa]k® Â¸¨£[PÒ £ØÔ ÂÁ›. 

Or 

 (b) Explain statement of accounts. 

  PnUS AÔUøP £ØÔ ÂÁ›. 

15. (a) Explain security control. 

  £õxPõ¨¦ Pmk¨£õk £ØÔ ÂÁ›. 

Or 

 (b) Write a note on export and import of data. 

  HØÖ©v ©ØÖ® CÓUS©v uμÄ £ØÔ SÔ¨¦ GÊxP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain accounting features in Tally. 

 PnUQ¯À ö\¯ÀvÓß £ØÔ Tally – °À Â›ÁõP ÂÁ›. 

17. Explain multicurrency in detail. 

 £» |õn¯® £ØÔ Â›ÁõP ÂÁ›. 

18. How to prepare profit and loss account in Tally? 

 Tally – °À C»õ£ |mh PnUøP GÆÁõÖ u¯õ›¨£x? 

19. Explain Fund flow statement in detail. 

 {v Kmh AÔUøP £ØÔ Â›ÁõP ÂÁ›. 

20. How will you backup and restore data in tally? 

 Tally – °À GÆÁõÖ uμøÁ, Põ¨£x ©ØÖ® «möhk¨£x? 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Third Semester 

Commerce with Computer Applications 

C-PROGRAMMING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is a variable? 

 ©õÔ GßÓõÀ GßÚ? 

2. What is initialization? 

 öuõhUP ©v¨¦ C¸zuÀ GßÓõÀ GßÚ? 

3. What is Boolean variable? 

 Boolean ©õÔ GßÓõÀ GßÚ? 

4. Write the general form of a simple if statement. 

 \õuõμn if TØÔß ö£õx ÁiÁzøu GÊxP. 

5. What do you mean by string array? 

 \› Ao GßÓõÀ GßÚ? 

Sub. Code 
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6. Write about printf and scanf functions. 

 printf ©ØÖ® scanf ö\¯Ø£õkPÒ £ØÔ GÊxP. 

7. Define a structure. 

 Pmhø©¨ø£ Áøμ¯ÖUP. 

8. What is a pointer variable? 

 _mk ©õÔ GßÓõÀ GßÚ? 

9. Write about # include directive. 

 # include EzuμÄ £ØÔ GÊxP. 

10. Define typedef. 

 typedef&I Áøμ¯ÖUP. 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Explain the special features of C. 

  C&ö©õÈ°ß ]Ó¨¦ A®\[PÒ £ØÔ ÂÁ›.  

Or 

 (b) Explain Data types in C. 

  C&ö©õÈ°ß uμÄ ÁøPPÒ £ØÔ ÂÁ›. 

12. (a) What is the difference between for and while loops? 

  for ©ØÖ® while loop&PÎß ÷ÁÖ£õk GßÚ? 

Or 

 (b) Explain ‘If Statement’ with a flowchart. 

  if TØøÓ J¸ £õ´Ä¨ £hzxhß ÂÁ›. 
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13. (a) Write a program to check whether the given string 

is palindrome or not. 

  öPõkUP¨£mh J¸ Á›ø\ ‘palindrome’&©õP 

C¸UQÓuõ CÀø»¯õ GßÖ \›£õºUP, J¸ {μÀ ÁøμP.  

Or 

 (b) Explain the need for user defined function. 

  £¯Úº Áøμ¯ÖUS® ö\¯Ø£õkPÎß ÷uøÁø¯ £ØÔ 

ÂÁ›. 

14. (a) Explain the concept of Pointer. 

  _mk ©õÔ°ß P¸zx¨ £iÁ® £ØÔ ÂÁ›. 

Or 

 (b) Explain passing a structure by reference. 

  SÔ¨¦ ‰»® J¸ Pmhø©¨ø£ Ph¨£x £ØÔ ÂÁ›. 

15. (a) Distinguish between (i) getc and putc (ii) getc and 
getchar. 

  (i) getc ©ØÖ® putc&I (ii) getc ©ØÖ® getchar&I 

÷ÁÖ£kzv PõmkP. 

Or 

 (b) Explain about the register and external variables. 

  Register ©ØÖ® external ©õÔPøÍ £ØÔ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Describe the characteristics and importance of a  
C program. 

 J¸ C&{μ¼ß £s¦PÒ ©ØÖ® •UQ¯zxÁ® £ØÔ ÂÍUQ 

ÁøμP. 
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17. Explain decision making in detail. 

 wº©õÛ¨¦ £ØÔ Â›ÁõP ÂÁ›. 

18. Write a program in C to read a matrix of size m  n and 
print its transpose. 

 m  n AÍÄ Eøh¯ J¸ Aoø¯ Áõ]¨£x ©ØÖ® 

AuÝøh¯ {ø»©õØÔø¯ Aa]kÁuØPõÚ J¸ {μø» 

C&°À GÊxP. 

19. Describe pointers in C. What are the advantages of using 
pointers? 

 C&ö©õÈ°À _mk ©õÔ £ØÔ ÂÍUQ ÁøμP. _mk ©õÔø¯ 

£¯ß£kzxÁuõÀ HØ£k® |ßø©PÒ ¯õøÁ? 

20. Explain about C Preprocessor. 

 C&ö©õÈ°ß •ß&ö\¯¼ £ØÔ ÂÁ›. 

 

—————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Third Semester 

Commerce with Computer Application 

BUSINESS STATISTICS 

(CBCS – 2017 onwards) 

Time : Three Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Statistics. 

 ¦ÒÎ ÂÁμ® Gß£uß Â›ÁõUP® TÖP. 

2. Define secondary data. State their chief sources. 

 Cμshõ® {ø» ÂÁμ[PÒ GßÚ? Auß uø»¯õ¯ 

EØ£zvø¯ TÖ. 

3. What are the parts of a good table? 

 AmhÁøn°ß £õP[PÒ SÔ¨¤kP. 

4. What are the characteristics of a good average? 

 |À» \μõ\›°ß ]Ó¨¤¯À¦PÒ GßÚ? 

5. State any two merits of Geometric mean. 

 ö£¸UPÀ \μõ\›°ß Cμsk |ØSn[PÒ ÂÁ›. 

6. Define coefficient of quartile deviation. 

 PõÀ©õÚ Â»UPUöPÊ Gß£uß Â›ÁõUP® öPõk. 

Sub. Code 
7BCC3C3 
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7. What are the merits and demerits of Rank correlation? 

 uμÁ›ø\ Ehß öuõhº¦UöPÊÂß ]Ó¨¦ ©ØÖ® SøÓPÒ 

TÖ. 

8. What is correlation? What are its types? 

 Ehß öuõhº¦ GßÓõÀ GßÚ? Auß ÁøPPÒ ¯õøÁ? 

9. What is consumer price index number? 

 ~Pº÷Áõº Âø» SÔ±mk Gs GßÓõÀ GßÚ? 

10. What are the components of time series? 

 Põ»®\õº öuõhºÁ›ø\PÎß £SvPÒ ¯õøÁ? 

 Part B (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the meaning of a Questionnaire. What are the 
precautions necessary in drafting a good 
questionnaire? 

  ÂÚõzöuõh›ß Aºzu® TÖ. |À» ÂÚõzöuõhøμ 

Áøμ¯ ÷uøÁ¯õÚ •ßöÚa\›UøPPÒ GßÚ? 

Or 

 (b) What do you mean by sampling? Describe briefly 
main types of sampling methods. 

  TöÓk¨¦ GßÓõÀ GßÚ? TöÓk¨¦ •øÓ°ß 

ÁøPPøÍ £ØÔ ÂÁ›. 

12. (a) Calculate mean for the following data : 
Value : 1 2 3 4 5 6 7 8 9 10
Frequency : 21 30 28 40 26 34 40 9 15 57

  ¤ßÁ¸® ÂÁμ[PÐUS Tmk \μõ\› ©v¨¤kP. 

©v¨¦ : 1 2 3 4 5 6 7 8 9 10

Aø»öÁs : 21 30 28 40 26 34 40 9 15 57

Or 
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 (b) Find the lower quartile for the following frequency 
distribution : 

Wages (Rs.) : 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80

No. of Persons : 1 3 11 21 43 32 9 

   ¤ßÁ¸® Aø»öÁs £μÁ¼ß •uÀPõÀ©õÚ® 

©v¨¤kP 

T¼ (¹.) : 10 – 20 20 – 30 30 – 40 40 – 50 50 – 60 60 – 70 70 – 80

|£ºPÎß 

GsoUøP 

1 3 11 21 43 32 9 

13. (a) What are the properties of coefficient of correlation? 

   uμÁ›ø\ Ehß öuõhº¦UöPÊÂß £s¦PÒ £ØÔ 

TÖP. 

Or 

 (b) If the covariance between X and Y variables is 10 
and the variance of X and Y are 16 and 9 
respectively, find the coefficient of correlation. 

  X, Y BQ¯ ©õÔPÎß Ehß ©õÖ£õk 10 BS®. 

AøÁPÎß vmhÂ»UP[PÒ •øÓ÷¯ 16, 9 BS®. X, 
Y °ß Ehß öuõhº¦UöPÊ PõsP. 

14. (a) Calculate index number for the following data by : 

  (i) Laspeyre’s method. 

  (ii) Paasche’s method. 
 Base Year Current Year 

 
Kilo 

Rate 
(Rs. 

Kilo 
Rate 
(Rs. 

Bread 10 3 8 3.25 

Meat 20 15 15 20 

Tea 2 25 3 23 
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   ¤ßÁ¸® ÂÁμ[PÐUS RÌPsh SÔ±mk GsPÒ 

PõsP. 

   (i) C»õ_¤¯º 

   (ii) £õì] SÔ±möhß 
 Ai¨£øh Bsk |h¨¦ Bsk 

 
Q÷»õ 

Âø» 

(¹.) 
Q÷»õ

Âø» 

(¹.) 

EnÄ 10 3 8 3.25 

CøÓa] 20 15 15 20 

÷u}º 2 25 3 23 

Or 

 (b) Write down the uses of index umbers. 

   SÔ±mk GsPÎß £¯ßPøÍ GÊxP. 

15. (a) The production of a sugar factory for the following 
years are given below. Calculate 3 yearly moving 
average. 

Years : 1971 1972 1973 1974 1975 1976 1977
Production (in tonnes) : 80 90 92 83 94 99 92 

   \ºUPøμ Bø»°ß EØ£zv ¦ÒÎ ÂÁμzv¼¸¢x  

3 Bsk |P¸® \μõ\› PnUQkP. 

Bsk : 1971 1972 1973 1974 1975 1976 1977

EØ£zv ({ÖzuÍÄ) : 80 90 92 83 94 99 92 

Or 

 (b) Draw a trend line by the method of semi-average for 
the data : 

Year : 2010 2011 2012 2013 2014 2015
Sales (’000) : 60 75 81 110 106 120 

   ¤ßÁ¸® ÂÁμ[PÐUS £õv \μõ\› •øÓ¨£i 

÷£õUSU÷Põk ÁøμP 

Bsk : 2010 2011 2012 2013 2014 2015

ÂØ£øÚ (’000) : 60 75 81 110 106 120 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Discuss the various methods of collecting primary data. 

 •uÛø» ÂÁμ[PÒ öuõSUS® £» ÁøPPÒ ÂÁ›. 

17. Calculate mode from the data given below : 
Marks : 10 15 20 25 30 35 40 

Frequency : 8 12 36 35 28 18 9 

 ¤ßÁ¸® ÂÁμ[PÐUS •Pk PõsP. 

©v¨ö£s : 10 15 20 25 30 35 40 

Aø»öÁs : 8 12 36 35 28 18 9 

18. Compute Karl Pearson’s coefficient of correlation from 
the following data and comment on its value : 

X : 17 19 23 35 40 42 48 54 

Y : 02 13 11 24 13 50 18 37 

 ¤ßÁ¸® ÂÁμ[PÐUS PõºÀ ¤¯º\Ûß Ehß öuõhº¦U 

öPÊ PõsP, ©ØÖ® Auß ©v¨¤øÚ ÂÁ›. 

X : 17 19 23 35 40 42 48 54 

Y : 02 13 11 24 13 50 18 37 

19. Using the following data construct Fishers ideal index 
and show that it satisfies.  

Time Reversal Test 
Base  Year Current Year 

Commodity Price  
(in Rs.) 

No. of 
Units 

Price  
(in Rs.) 

No. of 
Units 

A 6 8 10 12 
B 10 10 5 8 
C 5 7 8 10 
D 15 20 12 15 
E 20 25 15 10 
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 RÌUPsh ÂÁμ[PÐUS ¤åº SÔ±möhs PõsP. 

AUSÔ±möhs Põ»©õØÖz ÷uºÂøÚ {øÓÄ ö\´QÓx 

Gß£øu PõmkP. 

Ai¨£øh Á¸h® |h¨¦ Á¸h® 
ö£õ¸Ò 

Âø» (¹.) A»SPÒ Âø» (¹.) A»SPÒ

A 6 8 10 12 

B 10 10 5 8 

C 5 7 8 10 

D 15 20 12 15 

E 20 25 15 10 

20. Below are given the figures of production (’000  qts.) of a 
sugar factory 

Year : 2005 2006 2007 2008 2009 2010 2011 

Production (’000 qts) : 80 90 92 83 94 99 92 

 Fit a straight line trend for the data. 

 RÌPsh ÂÁμ[PÒ J¸ \ºUPøμ Bø»°ß EØ£zvø¯  

(‘000 SÂßhõÀ) öPõkUP¨£mkÒÍx. 

Bsk : 2005 2006 2007 2008 2009 2010 2011 

EØ£zv (’000 

SÂßhõÀ) :  

80 90 92 83 94 99 92 

 CuØS ÷|º÷Põmk¨ ÷£õUQøÚU PõsP. 

————————– 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Third Semester 

Commerce with Computer Applications 

ADVANCED ACCOUNTANCY – III 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10  2 = 20) 

Answer all questions. 

1. Who is partner? 
 £[PõÎ GßÓõÀ GßÚ? 

2. What do you mean by fluctuating capital? 
 ©õÖ£k® •xÀ Gß£x £ØÔ E©x P¸zx ¯õx? 

3. What are the features of partnership? [any four]  
 Tmhõsø©°ß ]Ó¨¦ A®\[PÒ ¯õøÁ? (H÷uÝ® |õßS) 

4. What is scarifying ratio? 
 v¯õP ÂQu® GßÓõÀ GßÚ? 

5. What is Goodwill? 

 |Øö£¯º GßÓõÀ GßÚ? 

6. Write a note on ‘Garner vs Murray Rule.  
 PõºÚº •º÷μ Âv £ØÔ J¸ SÔ¨¦ GÊxP. 

7. Under what circumstance Goodwill is calculated? 
 |Øö£¯º ©v¨¤kÁuØS›¯ `Ì{ø»PÒ ¯õøÁ? 

Sub. Code 
7BCC3C4 
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8. What is meant by maximum loss method?  
 AvP |mh•øÓ GßÓõÀ GßÚ? 

9. What is Revaluation Account? 
 ©Ö©v¨¥mkU PnUS GßÓõÀ GßÚ? 

10. What is dissolution of firm? 
 {ÖÁÚU Pø»¨¦ GßÓõÀ GßÚ? 

 Section B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A and B are partners sharing profits and losses in 
the ratio of 5:3. In view of C’s admission, they decide 
to revalue their assets and liabilities as indicated 
below: 

  (i) To increase the value of buildings by Rs.32,000 
  (ii) To bring into record investments at Rs.14,000 

which have not so far been brought into 
accounts 

  (iii) To decrease stock by Rs.12,000 and furniture 
by Rs.11,000 

  (iv) To write off sundry creditors by Rs.11,000.  
   Prepare Revaluation Account. 

  H ©ØÖ® ¤ BQ÷¯õº C»õ£ |mh[PøÍ 5:3 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ ] GßÓ ¦v¯ 

TmhõÎø¯ ÷\º¨£øu •ßÛmk AÁºPÒ 

{ÖÁÚzvß ö\õzxUPøÍ²® ö£õÖ¨¦PøÍ²® 

¤ßÁ¸©õÖ ©Ö©v¨¥k ö\´QßÓÚº : 
  (i) Pmih ©v¨ø£ ¹.32,000 AvP›UP ÷Ásk® 
  (ii) HkPÎÀ £vÄ ö£Óõ©À EÒÍ •u½kPÒ 

¹.14,000 I PnUQÀ öPsk Áμ ÷Ásk® 
  (iii) \μUQ¸¨¤ß ©v¨¤À ¹.12,000&®, AøÓP»ß 

©v¨¤À ¹.11,000&® SøÓUP ÷Ásk® 
  (iv) £Ø£» PhÜ¢÷uõ›À ¹.11,000 GÊv Âh 

÷Ásk® ©Ö©v¨¥mkU PnUøPz u¯õº ö\´P.  

Or 
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 (b) P, Q and R are partners sharing profits and losses 

in the ratio of 2:2:1. The partnership was dissolved 
on December 31,2012 and their Balance. Sheet as on 
that was follows: 

Liabilities Rs. Assets Rs. 

Sundry creditors 6,000 Sundry Assets 38,000

Profits and loss a/c 5,000 Cash in hand 2,000

Capital : P 16,000  

Q 10,000  

R 3,000  

 40,000  40,000

  Sundry Assets were realised Rs.42,000. Creditors 
were paid off in full. Expenses of realization 
amounted to Rs.1,000. Give Journal entries to 
closed the books of the firm. 

  P, Q ©ØÖ® R BQ÷¯õº C»õ£ |mh[PøÍ 2:2:1 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ. 2012 i\®£º 

31 AßÖ Tmhõsø© Pø»UP¨£mhx. Az÷uv°À 

EÒÍ AÁºPÍx C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ: 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõº 6,000 £ÀÁøP ö\õzxPPÒ 38,000

C»õ£ |mhU PnUS 5,000 öμõUP® 2,000

•uÀ : P 16,000  

 Q 10,000  

 R 3,000  

 40,000  40,000

  £ÀÁøP ö\õzxUPøÍ wºÄ ö\´uvÀ ¹.42,000 

ö£Ó¨£mhx. PhÜ¢÷uõ¸US •ÊzöuõøP²® 

ö\¾zu¨£mhx. Pø»¨¦ ö\»ÄPÒ ¹.1,000 
{ÖÁÚzvß HkPøÍ •iUPz ÷uøÁ¯õÚ SÔ¨÷£mk 

£vÄPøÍ ö\´P. 
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12. (a) A and B are partners sharing profits in the ratio of 

5:3. On admission of a new part ‘C’ they decide to 
revalue the assets and liability of the firm. 

  (i) Increase the value of building by Rs.22,000 
  (ii) Unrecorded investments of Rs.4,000 to be 

brought into account 
  (iii) Decrease the stock by Rs.2,000 and furniture 

by Rs.1,000 
  (iv) Write off sundry creditors by Rs.1,000 
   Prepare the Revaluation Account. 

  A, B GßÓ TmhõÎPÒ 5:3 GßÓ ÂQuzvÀ 

C»õ£zøu¨ £Qº¢x Á¢uÚº. ] GßÓ ÷\ºUS® ÷£õx 

{ÖÁÚzvß ö\õzxUPÒ ö£õÖ¨¦PÒ BQ¯ÁØøÓ 

©Ö©v¨¥k ö\´¯ •iöÁkzuÚº. 
  (i) Pmih ©v¨ø£ ¹.22,000 AvP›UP ÷Ásk® 
  (ii) HkPÎÀ £vÄ ö£Óõ©À EÒÍ •u½kPÒ 

¹.4,000 PnUQÀ öPõsk Áμ÷Ásk® 
  (iii) \μUQ¸¨¦ ©v¨ø£ ¹.2,000 ® AøÓP»ß 

©v¨ø£ ¹.1,000 SøÓUP ÷Ásk® 
  (iv) £Ø£» PhÜ¢÷uõ›À ¹.1,000 ÷£õUöPÊu 

÷Ásk®. 
   ©Ö©v¨¥mkU PnUøP u¯õº ö\´P. 

Or 

 (b) A, B and C were equal partners. Their position as on 
31st December 2012 was as following: 

Liabilities Rs. Assets Rs. 

A’s capital 2,000 Cash 1,500

B’s capital 600 C’s capital 200

  Loss on realisation 900

 2,600  2,600

  C’ is insolvent and can pay nothing. Prepare the 
capital accounts of partners under Garner Vs. 
Murray rule and close them. 
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  A, B ©ØÖ® C BQ÷¯õº \© TmhõÎPÒ 2012 i\®£º 

31 AßÖ AÁºPÍx {ø»ø© ¤ßÁ¸©õÖ : 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹ 

A •uÀ 2,000 öμõUP® 1,500
B •uÀ 600 Cß •uÀ 200

  wºÄ |mh® 900
 2,600  2,600

  C vÁõ»õQ ÂmhuõÀ AÁμõÀ GxÄ® ö\¾zu 

C¯»ÂÀø». PõºÚº Gvº •º÷μ wº¨¤ß £i 

TmhõÎPÎß PnUøP •iUPÄ®. 

13. (a) Explain the accounting treatment for goodwill on 
admission of a partner. 

  J¸ TmhõÎø¯ ÷\ºUS® ÷£õx |Øö£¯øμ PnUQÀ 

£v²® •øÓø¯ ÂÍUSP. 

Or 

 (b) X and Y are partnership sharing profits and losses 
in the ratio of 3:2. They decided to admit Z into 
partnership and revalue their assets and liabilities 
as indicated below: 

  (i) To depreciate stock, furniture and machinery 
by Rs.3,000, Rs.1,000, Rs.5,000 respectively. 

  (ii) To provide for workmen’s compensation of 
Rs.4,000. 

  (iii) To bring into record investment of Rs.3,000 
which had not so far been recorded into books 
of the firm. 

   Prepare Revaluation account. 
  X ©ØÖ® Y BQ÷¯õº C»õ£ |mh[PøÍ 3:2 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ AÁºPÒ  

Z Gß£Áøμ Tmhõsø©°À ÷\ºUP •iÄ ö\´x 

¤ßÁ¸©õÖ u[PÒ ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PøÍ 

©Ö©v¨¥k ö\´uÚº: 
  (i) \μUQ¸¨¦, AøÓP»ß ©ØÖ® C¯¢vμzøu 

•øÓ÷¯ ¹.3,000, ¹.1,000, ¹.5,000 GÚ SøÓUP 

÷Ásk®. 
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  (ii) £o¯õÍº |mh Dk ¹.4,000 JxUP ÷Ásk®. 

  (iii) HkPÎÀ CxÁøμ £v¯¨£hõu •u½kPÒ 

¹.3,000&I PnUQÀ öPõsk Áμ÷Ásk®. 

   ©Ö ©v¨¥mkU PnUøP u¯õº ö\´P. 

14. (a) Following is the balance sheet of A, B and C who 
share profit and losses in the ratio of 2:2:1 

Liabilities Rs. Assets Rs. 
Sundry Creditors 15,000 Cash in hand 2,000
Capital :  Sundry Debtors 12,000

A 15,000 Stock 22,000
B 12,000 Furniture 10,000
C 4,000  
 46,000  46,000

  The firm was dissolved and the assets were realized 
gradually. Rs.10,000 were received in first 
installment, Rs.15,000 in second installment and 
Rs.9,000 in third installment. Prepare statement 
showing piece meal distribution of cash under 
maximum loss method. 

  H,¤ ©ØÖ® ] C»õ£ |mh[PøÍ 2:2:1 GßÓ ÂQuzvÀ 

£Qº¢x öPõÒQßÓÚº. AÁºPÍx C¸¨¦ {ø»U 

SÔ¨¦  ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ Rs. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõºPÒ 15,000 øP°¸¨¦ öμõUP® 2,000
•uÀ :  £Ø£» PhÚõÎPÒ 12,000

A 15,000 \μUQ¸¨¦ 22,000
B 12,000 AøÓP»ß 10,000
C 4,000  
 46,000  46,000

  {ÖÁÚ® Pø»UP¨£mk ö\õzxUPÒ £i¨£i¯õP 

ÂØ£øÚ ö\´¯¨£kQÓx. •uÀ uÁøn¯õP ¹.10,000 
CμshõÁx uÁøn¯õP ¹.15,000 ‰ßÓõÁx 

uÁøn¯õP ¹.9,000 ö£Ó¨£mhx. AvP |mh•øÓ°À 

£i¨£i¯õP öμõUP¨ £QºÄ öÁÎ¨£kzx® 

AmhÁønø¯ u¯õº ö\´P. 

Or 
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 (b) Explain the rules laid down in Gamer Vs. Murray 

case. 

  PõºÚº Gvº •º÷μ ÁÇUS ‰»® Ch¨£mh ÂvPøÍ 

ÂÍUSP. 

15. (a) Explain fixed and fluctuating capital accounts — 
Difference. 

  {ø»¯õÚ •u¾US® ©ØÖ® ©õÖ£k® •u¾US® 

Cøh÷¯¯õÚ ÷ÁÖ£õkPøÍ ÂÍUSP. 

Or 

 (b) P and Q were the partners sharing profit in the 
ratio of 7:3. It was admitted On 3/7 share in the 
profits. Calculate new profit sharing ratio of the 
partners. 

  ¤ ©ØÖ® U³ BQ÷¯õº 7:3 £Qº¢x öPõÒÐ® 

TmhõÎPÒ Bº Gß£Áº 3/7 £[QØS ÷\ºzxU 

öPõÒÍ¨£mhõº. TmhõÎPÎß ¦v¯ C»õ£ 

ÂQuzvøÚU PnUQkP. 

 Section C  (3  10 = 30) 

Answer any three questions. 

16. The Balance sheet of M, G, R as on 31.12.2000 
Liabilities Rs. Assets Rs 

Creditors 80,000 Bank 2,000

M’s loan 20,000 Stock 48,000

Capital  Debtors 40.000

M 10,000 Furniture 6,000

G 6,000 R’s capital 20,000

 1,16,000  1,16,000

 The firm is dissolved. G and R cannot pay anything.  
M can contribute only Rs.3,000 from his private estate. 
Stock realizes Rs.30,000 ; Debtors Rs.32,000; and 
furniture is sold for Rs.2,000. Expenses amounted to 
Rs.6,000. Prepare accounts to close the books of the firm. 
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 2000 i\®£º 31&À£i M, G, R&ß C¸¨¦ {ø»U SÔ¨¦  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 80,000 Á[Q 2,000
M Phß 20,000 \μUQ¸¨¦ 48,000
•uÀ  PhÚõÎPÒ 40.000

M 10,000 AøÓP»ß 6,000
G 6,000 R&ß •uÀ 20,000
 1,16,000  1,16,000

 {ÖÁÚ® Pø»UP¨£mhx. G, R C¸Á¸® GxÄ® öPõkUP 

C¯»ÂÀø». M&hª¸¢x ¹.3,000 ; ©mk÷© Qøhzux. 

\μUQ¸¨¦ ÂØÖ Âø» ¹.30,000 ; Debtors Rs.32,000; 
PhÚõÎPÒ Á`À ¹.2,000 ; Pø»¨¦a ö\»Ä ¹.6,000. 
{ÖÁÚ HkPøÍ •iUP ÷uøÁ¯õÚ ÷£÷μkPøÍ u¯õ›UP. 

17. Explain the different methods of piecemeal distribution of 
cash in a firm. 

 J¸ {ÖÁÚzvÀ £i¨£i¯õPz v¸¨¤U öPõk¨£uØS 

¤ß£ØÓ¨£k® £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

18. The following was the Balance Sheet of A, B and C who 
were equal partners on 31.12.2012. 

Liabilities Rs. Assets Rs. 
Capitals  Buildings 19,500

A 16,800 Furniture 2,400
B 12,600 Stock 11,400
C 6,000 Debtors 10,800

Creditors 6,000 Cash 600
Bills payable 3,300   

 44,700  44,700
 They agreed to take D into partnership and give him  

1/4 shares in the profits on the following terms. 
 (a) That D should bring Rs.9,000 for goodwill and 

Rs.15,000 as capital. 
 (b) That 2

1  of goodwill shall be withdrawn by old 
partners. 
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 (c) That stock and furniture 10% depreciated be 

created for doubtful debts. 

 (d) That a provision of 5% on debtors be created for 
doubtful debts. 

 (e) That a liability of Rs.1,080 be created against bills 
discounted. 

 (f) That the value of land and building having 
appreciated should be valued at Rs.27,000. 

  Prepare Revaluation Account, Partner’s Capital 
Account and Revised Balance Sheet. 

 A, B ©ØÖ® C CÁºPÒ \© TmhõÎPÒ CÁºPÍx C¸¨¦ 

{ø»U SÔzx  31.12.2012 ¤ßÁ¸©õÖ. 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ :  Pmih® 19,500

A 16,800 AøÓP»ß 2,400

B 12,600 \μUS 11,400

C 6,000 PhÚõÎPÒ 10,800

PhÜ¢÷uõº 6,000 öμõUP® 600

ö\¾zv Esi 3,300   

 44,700  44,700

 RÌPsh {£¢uøÚPÎß £i Gß£º C»õ£ £[S 1/4 öPõkzx 

Tmhõsø©°À ÷\ºzx öPõÒQßÓÚº. 

 (A) Gß£Áº ¹.9,000 |ß©v¨¦UPõPÄ® ¹.15,000 

‰»uÚ©õPÄ® ö\¾zu ÷Ásk®. 

 (B) £øÇ¯ TmhõÎPÒ |ß©v¨¤À 1/2 £[øP GkzxU 

öPõÒÁº. 

 (C) \μUS ©ØÖ® AøÓP»ß ©v¨¤À 10% SøÓUP¨£h 

÷Ásk®. 

 (D) PhÚõÎPÒ «x 5% ÁõμõUPhß Põ¨¦ HØ£kzu 

÷Ásk®. 
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 (E) Ámh® ö\´¯¨£mh ©õØÖa ^miØPõP ¹.1,080 

ö£õÖ¨¦ HØ£kzu ÷Ásk®. 

 (F) Pmih® ¹.27,000US ©v¨÷£ØÓ® ö\´¯¨£h 

÷Ásk®. 

  ©Ö©v¨¥mkU PnUS, •uÀ PnUSPÒ ©ØÖ® ¦v¯ 

TmhõÎPÎß C¸¨¦ {ø»U SÔ¨¦ •u¼¯ÁØøÓ 

u¯õ›UPÄ®. 

19. A and B are partners sharing profits and losses in the 
ratio of 3 : 1. Their balance sheet as on 31st December 
2012, stood as follows: 
Liabilities Rs. Assets Rs. 

Capital:  Cash at Bank 45,000

              A 60,000 Bills receivable 6,000

              B 32,000 Debtors 32,000

Creditors 75,000 Stock 40,000

General reserve 8,000 Furniture 2,000

  Land and Building 50,000

 1,75,000  1,75,000

 They admit C into partnership on 1st January 2013 on the 
following terms: 

 (a) That C pays Rs.20,000 as his capital for 1/5th share 
in the future profits. 

 (b) That goodwill account be raised in the books of the 
new firm at a value of Rs.40,000. 

 (c) That stock and furniture be reduced by 10% and a 
5% provision for doubtful debts be created on 
debtors. 

 (d) That the value of land and buildings be appreciated 
by 20%. 

  Prepare necessary ledger accounts and balance 
sheet of the new firm. 
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 A ©ØÖ® B BQ÷¯õº C»õ£ |mh[PøÍ 3 : 1 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒÐ® TmhõÎPÒ. 2012 i\®£º 31 
AßÖ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ :  Á[Q°À öμõUP® 45,000
              A 60,000 ö£ÖuØS›¯ ©õØÖa ^mk 6,000
              B 32,000 PhÚõÎPÒ 32,000
PhÜ¢÷uõº 75,000 \μUQ¸¨¦ 40,000
ö£õxU Põ¨¦ 8,000 AøÓP»ßPÒ 2,000

  {»® ©ØÖ® Pmih® 50,000

 1,75,000  1,75,000

 2013 áÚÁ› 1, AßÖ RÌPõq® {£¢uøÚPÎß £i  
C Gß£Áøμ AÁºPÒ TmhõÎ¯õP ÷\ºzxU öPõshÚº : 

 (A) GvºPõ» C»õ£zvÀ 1/5 £[S ö£ÖÁuØPõP C Gß£Áº 

¹.20,000 •uÀ öuõøP ö\¾zu ÷Ásk®. 
 (B) ¦v¯ {ÖÁÚzvß HkPÎÀ |Øö£¯º Gß£Áº 

¹.40,000 ©v¨¤À ÷uõØÖÂUP ÷Ásk®. 
 (C) \μUQ¸¨¦ ©ØÖ® AøÓP»ßPÒ 10% SøÓUP 

÷Ásk®. ÷©¾®, PhÚõÎPÒ «x I¯UPhÝUPõP  

5% JxUS HØ£kzu ÷Ásk®. 
 (D) {»•® Pmih•® ©v¨ø£ 20% E¯ºzu ÷Ásk®. 
  ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍ {ÖÁÚzvÀ 

HkPÎÀ u¯õº ö\´x ¦v¯ {ÖÁÚzvß C¸¨¦ {ø»U 

SÔ¨ø£ u¯õº ö\´P. 

20. Following is the balance sheet of A, B & C who share 
profits and losses in the ratio 2:2:1 

Liabilities Rs. Assets Rs. 
Sundry Creditors 30,000 Cash in hand 4,000
Capital:  Sundry debtors 24,000

A 30,000 Stock 44,000
B 24,000 Furniture 20,000
C 8,000  
 92,000  92,000
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 The firm was dissolved and the assets were realized 

gradually. Rs.20,000 were received in 1st instalment, 
Rs.30,000 in the 2nd instalment and Rs.18,000 in the  
3rd instalment. Show how each instalment is distributed 
under maximum loss method. 

 C»õ£ |mh[PøÍ 2:2:1 GßÓ ÂQuzvÀ £Qº¢x öPõÒÐ® 

A, B & C BQ÷¯õμx C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

£Ø£» PhÜ¢÷uõº 30,000 øP°¸¨¦ öμõUP® 4,000

•uÀ :  £Ø£» PhÚõÎPÒ 24,000

A 30,000 \μUQ¸¨¦ 44,000

B 24,000 AøÓP»ßPÒ 20,000

C 8,000  

 92,000  92,000

 {ÖÁÚ® Pø»UP¨£mk ö\õzxPPÒ £i¨£i¯õP wºÄ 

ö\´¯¨£mhÚ. •uÀ uÁøn¯õP ¹.20,000, Cμshõ® 

uÁøn¯õP ¹.30,000 ‰ßÓõ® uÁøn¯õP ¹.18,000 
ö£Ó¨£mhx. JÆöÁõ¸ uÁøn²® GÆÁõÖ 

£Qº¢uÎUP¨£mhx Gß£øu AvP£m\ |mh |øh•øÓ°À 

PõmkP. 

 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Fourth Semester 

Commerce with Computer Applications 

E–COMMERCE AND INTERNET 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is E- commerce? 

 ªß ÁoPÂ¯À GßÓõÀ GßÚ? 

2. What are the components of I-Way? 

 I-way °ß TÖPÒ ¯õøÁ? 

3. What is WWW? 

 WWW GßÓõÀ GßÚ? 

4. What is EDI? 

 EDI GßÓõÀ GßÚ? 

5. What is digital token? 

 Digital token GßÓõÀ GßÚ? 

6. What is data ware house? 

 uPÁÀ Qh[S GßÓõÀ GßÚ? 

Sub. Code 
7BCC4C1 
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7. What is Internet? 

 Cøn¯® GßÓõÀ GßÚ? 

8. What is URL? 

 URL GßÓõÀ GßÚ? 

9. What is ISP? 

 ISP GßÓõÀ GßÚ? 

10. What is web browser? 

 Cøn¯ E»õÂ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the applications of E-Commerce? 

  ªß ÁoPÂ¯¼ß £¯ß£õkPÒ ¯õøÁ? 

Or 

 (b) Discuss about media convergence? 

  FhP J¸[Qøn¨¦ SÔzx ÂÁ›. 

12. (a) Discuss about the technology behind web security. 

  Cøn¯uÍ £õxPõ¨¤ß ¤ßÚÛ EzvPÒ ¯õøÁ? 

ÂÁ›. 

Or 

 (b) Discuss about the risks in EPS. 

  EPS °ß A£õ¯[PøÍ ÂÁ›. 

13. (a) Write about EDI privacy and security issues. 

  EDI °ß uÛ²›ø© ©ØÖ® £õxPõ¨¦ ¤μa]øÚPÒ 

SÔzx GÊxP. 

Or 
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 (b) Write short note on supply chain management. 

  Â{÷¯õP \[Q¼ ÷©»õsø© SÔzx ]ÖSÔ¨¦ ÁøμP. 

14. (a) What are the different ways of internet connections 
explain briefly? 

  £À÷ÁÖ ÁøP¯õÚ Cøn¯ Cøn¨¦ ¯õøÁ? ÂÁ›. 

Or 

 (b) Short note a internet protocols? 

  Cøn¯ ö|Ô•øÓPÒ SÔzx ÂÁ›. 

15. (a) Define the following terms. 

  (i) Search Engine  

  (ii) Port number  

  (iii) Host name. 

  ¤ßÁ¸® ÁõºzøuPøÍ Áøμ¯Ö 

  (i) ÷uhÀ C¯¢vμ®  

  (ii) Port number 

  (iii) Host name.   

Or 

 (b) Discuss about Web page Protocols. 

  Áø»¨£UP ö|Ô•øÓPÒ £ØÔ ÂÁ›. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain briefly the need for E-business. 

 ªß ÁoPzvß ÷uøÁPøÍ ÂÍUSP. 
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17. Explain the different electronic payment system? 

 £À÷ÁÖ ÁøP¯õÚ ªßÚÝ Pmhn Aø©¨¦ SÔzx 

ÂÍUSP. 

18. How does EDI works? Explain in detail? 

 EDI GÆÁõÖ ÷Áø» ö\´QÓx? ÂÍUSP. 

19. Explain about internet architecture. 

 Cøn¯ Pmhø©¨¦ £ØÔ ÂÍUSP. 

20. Explain about internet Services. 

 Cøn¯ ÷\øÁPÒ £ØÔ ÂÍUSP. 

———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Fourth Semester 

Commerce with Computer Applications 

C++ PROGRAMMING 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is Inline function? 

 Inline ö\¯À£õk GßÓõÀ GßÚ? 

2. What is const argument? 

 Const argument GßÓõÀ GßÚ? 

3. What are the properties of Memory Function? 

 {øÚÁP ö\¯À£õmiß £s¦PÒ ¯õøÁ? 

4. How will you define a Class? 

 Class–I Áøμ¯Ö. 

5. Write down the operators that cannot be overloaded. 

 Overload ö\´¯ C¯»õu operator-PøÍ GÊxP. 

6. What is Constructor? 

 Constructor GßÓõÀ GßÚ? 

Sub. Code 
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7. What is Inheritance? 

 Inheritance GßÓõÀ GßÚ? 

8. What is abstract class? 

 Abstract class GßÓõÀ GßÚ? 

9. What is input/output Stream? 

 EÒÏk ©ØÖ® öÁÎ±k Stream GßÓõÀ GßÚ? 

10. List down the Stream Class for Console operation. 

 £o¯P ö\¯À£õkPÎß Stream Class °øÚ £mi¯¼kP. 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain Call by Reference with example. 

  SÔ¨¦ ‰»® AøÇUS® •øÓø¯ Euõμnzxhß 

ÂÍUSP. 

Or 

 (b) Explain Inline function with example. 

  Inline ö\¯À£õmiøÚ Euõμnzxhß ÂÍUSP. 

12. (a) How will you define a Memory function with 
example? 

  {øÚÁP ö\¯À£õkPøÍ GÆÁõÖ Áøμ¯ÖUP£h 

÷Ásk® Gß£øu ÂÍUSP. 

Or 

 (b) Explain Array of objects with example. 

  ö£õ¸Îß Á›ø\/Aoø¯ Euõμnzxhß ÂÍUSP. 
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13. (a) Write down the rules for Overloading Operation. 

  Overloading Operation ß ÂvPøÍ GÊxP. 

Or 

 (b) Explain Dynamic Constructor with example 
program. 

  Dynamic Constructor ø¯ J¸ {μÀ ‰»® ÂÁ›. 

14. (a) Write down the Syntax of multiple inheritance with 
example. 

  Multiple inheritance °ß öuõh›¯¼øÚ GÊxP. 

Or 

 (b) Explain Abstract Class with example. 

  Abstract Class–I Euõμnzxhß ÂÍUSP. 

15. (a) Explain line Oriented Input Function. 

  Á›ø\ \õº¢u I/P ö\¯À£õmiøÚ  ÂÍUSP. 

Or 

 (b) How will you display String with write( ) Function? 

  J¸ \μzvøÚ, write( ) ö\¯À£õmiÀ GÆÁõÖ 

Põs¤¨£x? 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain function overloading with example. 

 Function overloading I Euõμnzxhß ÂÍUSP. 

17. Write in detail about friendly function with example 
program. 

 Friendly function I J¸ {μÀ Áõ°»õP GÊxP. 
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18. Explain Overloading binary operator with example 

program. 

 Overloading binary operator I Euõμn {μ¼ ‰»® 

ÂÍUSP. 

19. Explain any two types of inheritance with example 
program. 

 H÷uÝ® Cμsk ÁøP¯õÚ inheritance I Euõμn {μ¼ 

‰»® ÂÍUSP. 

20. Explain Virtual function with example program. 

 Virtual function I Euõμn {μ¼ ‰»® ÂÍUSP. 

  

———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Fourth Semester 

Commerce with Computer Applications  

ADVANCED ACCOUNTANCY – IV  

(CBCS – 2017  onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What is contract accounting? 

 J¨£¢u PnUS GßÓõÀ GßÚ? 

2. What do you mean by short working? 

 SøÓ EØ£zv GßÓõÀ GßÚ? 

3. What is meant by Hire Purchase system? 

 ÁõhøP öPõÒ•uÀ GßÓõÀ GßÚ? 

4. Explain the term ‘complete Repossession’. 

 ‘•Êø©¯õP v¸®£ ö£ÖuÀ’ ÂÍUSP. 

5. What are the objectives of preparing Departmental 
Accounts? 

 xøÓÁõ›U PnUSPÒ u¯õ›¨£uß ÷|õUP[PÒ ¯õøÁ? 

6. What is Deficiency a/c? 

 £ØÓõUSøÓ P/S GßÓõÀ GßÚ? 

Sub. Code 
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7. Explain the meaning of Royalty. 

 E›ø©z öuõøP GßÓõÀ GßÚ? 

8. What are independent branches? 

 \õμõu QøÍPÒ GßÓõÀ GßÚ? 

9. Why is statement of affairs prepared? 

 Phß wºÄ ÂÁμ AÔUøP Hß u¯õ›UP¨£kQÓx?  

10. What is minimum rent? 

 SøÓ¢u £m\ ÁõhøP GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain “Profit on Incomplete contract”. 

  ‘•iÄ ö£Óõ J¨£¢uzvÀ Qøhzu »õ£®’ ÂÍUSP. 

Or 

 (b)  Write the specimen of contract account. 

  J¨£¢uU PnUQß ©õv› £iÁzvøÚ GÊxP. 

12. (a) Explain the difference between Hire Purchase 
System and Installment System. 

ÁõhøP öPõÒ•uÀ ©ØÖ® uÁøn öPõÒ•uÀ 

•øÓPÐ® EÒÍ ÷ÁÖ£õkPøÍ ÂÁ›. 

Or 

 (b)  X Purchased a machine on hire purchase system  
Rs. 3,000 being paid on delivery and the balance in 
five instalments of Rs. 6,000 each, payable annually 
on 31st December. The each price was Rs. 30,000. 
Calculate the amount of interest for each year. 
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   X Gß£Áº J¸ ö£õÔ ÁøP JßøÓ ÁõhøP 

öPõÒ•u¼À Áõ[Q¯Úõº. AÁº Ehß öuõøP¯õP  

¹. 3,000 •® uÁøn JßÔØS ¹. 6,000 Ãu® I¢x 

uÁøn²® PmkQÓõº. öμõUP Âø» ¹. 30,000. 

JÆöÁõ¸ Á¸h•® AÁº GÆÁÍÄ Ámi PmkQÓõº 

Gß£øu Psk¤iUPÄ®. 

13. (a) The assets of Kathirasan of Mumbai on 30th  June 
2009 as shown by his books were Rs. 28,000 and his 
liabilities Rs. 22,000. He filed his petition in the 
solvency court and estimated his deficiency to be  
Rs. 15,000. After making the above estimated he 
found the following items were not passed through 
his books of accounts 

  (i) Interest at 6% on his capital from 1.1.2009. 

  (ii)  A contingent liability of Rs. 1,250 on bills 
discounted by him for Rs. 5,000  

  (iii)  Amounts due as wages Rs. 300. Rent Rs. 100 
and Taxes Rs. 150. 

  Prepare Statement of affairs and deficiency account 
that is to be prepared as per insolvency law. 

•®ø£ø¯ ÷\º¢u Pv÷μ\Ûß ö\õzxUPÒ ¹. 28,000 

GÚÄ® ö£õÖ¨¦UPÒ ¹. 22,000 GÚÄ® 30.6.2009 

AßÖ ©v¨¤h¨£mhÚ. AÁº ö|õi¨¦ {ø» 

Âsn¨£zøu }v ©ßÓzvÀ uõUPÀ ö\´uõº. 

AÁ¸øh¯ £ØÓõUSøÓ ¹. 15,000 GÚ AÁº 

©v¨¤mhõº. BÚõÀ RÌUPsh Â£μ[PøÍ PnUQÀ 

GkzxU öPõÒÍõ©À ÷©ØPsh £ØÓõUSøÓ ©v¨¥k 

ö\´¯¨£mhx GÚ AÁº ¤ßÚº Pshõº. 

  (i) 1.1.2009 •uÀ 6% Ai¨£øh°À ‰»uÚzvß 

«u Ámi. 

  (ii) ¹. 5,000–zvØPõÚ PÈÄ ö\´¯¨£mh ©õØÖa 

^miß «uõÚ EhÚi ö£õÖ¨¦ ¹. 1,250. 
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  (iii) öPõkUP ÷Ási¯ T¼ ¹. 300, ÁõhøP ¹. 100, 

Á›PÒ ¹. 150 ö|õi¨¦ {ø» \mh¨£i 

u¯õ›UP¨£h ÷Ási¯ {ø» AÔUøP ©ØÖ® 

£ØÓõUSøÓ PnUQøÚ u¯õº ö\´P. 

Or 

 (b)  Distinguish between insolvency of an individual and 
a partnership firm. 

   uÛ|£º ö|õi¨¦ {ø»US® Tmhõsø© {ÖÁÚ 

ö|õi¨¦ {ø»US® Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍ 

TÖP. 

14. (a) Write short notes on ‘Branch Adjustment Account’. 

  QøÍ \›UPmkuÀ PnUS ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) The Bombay Textiles Ltd, opened a branch at Delhi 
on 1st April 2010. From the following particulars 
prepare all the accounts effected for 2010 – 11 and 
2011 –12 in the books of head office : 

       Particulars                            2010 – 11               2011 – 12 
     Rs.                            Rs. 

 Goods sent to Delhi  45,000 1,35,000 

 Cash sent to Branch for : 

 Rent      6,000 6,000 

 Salaries     4,800 6,800 

 Other expenses    2,000 3,000 

 Cash received from Branch 70,000 1,60,000 

 Stock on 31st March   7,000 26,000 

 Petty cash in hand on   
 31st March     120 260 
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   £®£õ´ {ÖÁÚ® 1.4.2010 À öhÀ¼°À QøÍ 

öuõh[Q¯x uø»ø© {ÖÁÚ ¦zuPzvÀ 2010 – 2011 

©ØÖ® 2011 – 2012 ØPõÚ AøÚzx PnUSPøÍ²® 

u¯õ›UP. 

               Â£μ®                             2010 – 11                  2011 – 12 

   ¹.                              ¹. 

 öhÀ¼US AÝ¨£¨£mhx  45,000 1,35,000 

 QøÍ ö\»ÂØS AÝ¨£mh £n® : 

 ÁõhøP      6,000 6,000 

 \®£Í®      4,800 6,800 

 ©ØÓ ö\»ÄPÒ    2,000 3,000 

 QøÍ°¼¸¢x ö£Ó¨£mh £n® 70,000 1,60,000 

 31 ©õºa]À \μUQ¸¨¦   7,000 26,000 

 31 ©õºa]À ]Ö öuõøP C¸¨¦  120 260 

  

15. (a) Distinguish between Independent Branches and 
Foreign Banches. 

\õº¢vμõu QøÍPÐUS® A¢v¯ QøÍPÐUS® EÒÍ 

÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b)  The following purchases were made by a business 
house having three departments : 

  Dept. A – 1000 units 

  Dept. B – 2000 units     at a total cost of Rs. 1,00,000 

  Dept C – 2400 units 
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  Stocks were :  

  Dept A – 1020 units at Rs. 20 each 

  Dept B – 1092 units at 22.50 each 

  Dept C – 2496 units at Rs. 25 each 

  Stock on 1st January were 

   Dept. A – 120 units 

  Dept. B – 80 units     

  Dept C – 152 units 

  The rate of gross profit is same in each case. 
Prepare Department Trading Account. 

  RÌUPsh öPõÒ•uÀPÒ J¸ Â¯õ£õμ \õø»°ß 

‰ßÖ xøÓPÎÚõÀ u¯õ›UP¨£kQßÓÚ. RÌUPsh 

|hÁiUøP°¼¸¢x xøÓ ÁºzuP PnUS u¯õº ö\´P. 

  xøÓ A – 1000 A»SPÒ 

  xøÓ B – 2000 A»SPÒ       AhUPÂø» ¹. 1,00,000 

  xøÓ C – 2400 A»SPÒ 

  áÚÁ› 1  xøÓ A – 1020 A»SPÒ Âø» ¹. 20  

         xøÓ B – 1092 A»SPÒ Âø» ¹. 22.50  

         xøÓ C – 2496 A»SPÒ Âø» ¹. 25  

  ö©õzu C»õ£® JÆöÁõ¸ xøÓ°¾® \©©õP C¸US®. 

   xøÓ A – 120 A»SPÒ 

  xøÓ B – 80 A»SPÒ 

  xøÓ C – 152 A»SPÒ. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. The Sayee Mine company obtained a mine on lease for a 
period of 30 years beginning from 1st January 2010 on the 
following terms : 

 (a) To pay minimum rent of Rs. 24,000 per year. 

 (b) Short working can be recovered during the 
subsequent two years. 

 (c) Royalty was to be calculated at 0.50 paise per tonne 
production during four years from 2010  to 2013 was  
as follows : 

   Year  Production (in tons) 

   2010           28,000 

   2011           36,000 

   2012           60,000 

   2013            64,000 

 Show the minimum rent a/c, Royalty a/c, Land a/c and 
show working a/c in the books of the Sayee Mine Co.  

 áÚÁ› 1, 2010 ¼¸¢x 30 Á¸hzvØS \õ°_μ[P {Ö©® J¸ 

_μ[Pzvß ÷©À SzuøP E›ø© ö£ØÓx. Auß {£¢uøÚPÒ 

¤ßÁ¸©õÖ. 

 (A) J¸ Á¸h SøÓ¢uÍÄ SzuøP öuõøP ¹. 24,000 

 (B) SøÓ EØ£zvø¯ ¤ßÁ¸® Cμsk Á¸hzvØSÒ 

«mP¨£h ÷Ásk®. 

 (C) E›ø©z öuõøP J¸ hßÝUS 50 ø£\õ GßÖ PnUQh 

÷Ásk®, 2010 •uÀ 2013 Áøμ EÒÍ |õßS 

Á¸hzvØPõÚ EØ£zv ¤ßÁ¸©õÖ. 
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   Á¸h®   EØ£zv (hß) 

   2010           28,000 

   2011           36,000 

   2012           60,000 

   2013        64,000 

  SøÓ¢uÍÄ SzuøP PnUS ©ØÖ® E›ø© öuõøP 

PnUS, {»UP› PnUS ©ØÖ® SøÓ EØ£zv PnUS 

Psk¤iUP. 

17. A firm of builders, Carrying out large Contracts kept in a 
contract ledger separate accounts for each contract. The 
following particulars relate to a certain contract carried 
out during the year ended 30th June. 

                     Particulars                                           Rs. 

   Work certified by Architects 1,40,000 

   Cash received from the contractee 1,35,000 

   Materials sent to site  64,500 

   Labour engaged on site  50,800 

  Plant installed at site  11,300 

  Value of plant at 30th June (closing) 8,500 

  Cost of work not yet certified 3,400 

  Establishment charges  3,250 

  Direct Expenditure  2,400 

  Wages accured due  1,850 

  Materials closing balance 1,400 

  Materials returned to store 400 

  Direct expenses accured due 200 

  Contract price   2,00,000 

 You are required to prepare an account, showing the 
profit on the Contract to 30th June. 
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 J¸ ö£›¯ Pmih {Ö©® ö£›¯ AÍÂ»õÚ J¨£¢u[PøÍ 

uÛuÛ ÷£÷μmkU PnUSPÎÀ ÷©ØöPõskÒÍx. 

¤ßÁ¸® ÂÁμ[PÒ áüß 30 À •iÄÖ® BsiØPõP J¸ 

J¨£¢u® öuõhº¦øh¯uõS®. 

                    Â£μ®                                                          ¹. 

 Pmih {¦nºPÍõÀ \õßÓÎUP¨£mh ÷Áø»°ß AÍÄ 1,40,000 

 J¨£¢uuõμ›hª¸¢x ö£Ó¨£mh öμõUP® 1,35,000 

 £o°hzvØS AÝ¨£mh \μUQß ©v¨¦ 64,500 

 £o°hzvÀ £o¦›÷Áõº ©v¨¦  50,800 

 £o°hzvÀ {ÖÁ¨£mh uÍÁõh[PÒ 11,300 

 áüß 30 |õÍßøÓ¯ uÍÁõh[PÎß ©v¨¦ (CÖv ©v¨¦)  8,500 

 \õßÓÎUP¨£hõu £o°ß ©v¨¦  3,400 

 {ÖÄu¾UPõÚ ö\»ÄPÒ   3,250 

 ÷|μi ö\»ÄPÒ    2,400 

 öPõk£h ÷Ási¯ T¼   1,850 

 \μUSPÎß CÖv ©v¨¦   1,400 

 £shP\õø»US v¸¨¤ AÝ¨£¨£mh \μUSPÒ 400 

 ÷|μi ö\»ÄPÒ öPõk£h ÷Ási¯x 200 

 J¨£¢u Âø»     2,00,000 

  30 áüß |õÍßøÓ¯ J¨£¢u® «uõÚ C»õ£zøu Põmk® 

PnUS JßøÓ u¯õº ö\´¯ }Âº ÷Põμ¨£kQÕº. 

18. What are the difference between statement of affairs and 
Balance sheet? Write a specimen of statement of affairs. 

 {ø»ø© ÂÁμ AÔUøPUS® C¸¨¦ {ø»US SÔ¨¦US® 

EÒÍ ÷ÁÖ£õk ¯õx? {ø»ø© ÂÁμ AÔUøP°ß ©õv› 

£iÁzøu GÊxP. 
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19. From the following particulars relating to Chennai 

branch for the year ended 31.12.2009. Prepare branch 
account in the head office books. 

  Particulars                                         Rs. 

 Stock at the branch on 1.1.2009 15,000 

 Debtors at the branch on 1.1.2009 30,000 

 Petty cash at the branch on 1.1.2009 300 

 Goods sent to branch during 2009 2,52,000 

 Cash sales 2009    60,000 

 Received from debtors 2009  2,10,000 

 Credit sales debtors 2009  2,28,000 

 Cheques sent to branch during 2009 : 

 For salaries    9,000 

 For rent and rates   1,500 

 For petty cash    1,100 11,600 

 Stock at the branch on 31.12.2009 25,000 

 Petty cash 31.12.2009   200 

 Goods returned by the branch 2,000 

 Debtors on 31.12.2009   48,000 

 RÌPsh |hÁiUøPPÎ¼¸¢x ö\ßøÚ QøÍ P/S u¯õ›UP 

÷Ási¯ Bsk 31.12.2009. uø»ø© A¾Á»P ¦zuP 

£v÷Ámi¼¸¢x QøÍ PnUQøÚ u¯õ›UP. 

  Â£μ®                                                 ¹. 

 1.1.2009 AßÖ \μUS   15,000 

 1.1.2009 AßÖ PhÚõÎPÒ  30,000 

 1.1.2009 AßÖ ]À»øÓa ö\»Ä C¸¨¦ 300 

 2009  BskUS›¯ AÝ¨¤¯ \μUS 2,52,000 

 2009 ® BskUS›¯ öμõUP ÂØ£øÚ 60,000 

 2009 ® Bsk PhÚõÎPÎhª¸¢x ö£ØÓx 2,10,000 

 2009 ® BskUS›¯ Phß ÂØ£øÚ 2,28,000 
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                     Â£μ®                                                 ¹. 

 2009 ® BskUS›¯ QøÍUS AÝ¨¤¯ Põ÷\õø» : 

 \®£Í®    9,000 

 ÁõhøP Pmhn®   1,500 

 ]À»øÓa ö\»Ä   1,100 11,600 

 31.12.2009  AßÖ \μUQ¸¨¦  25,000 

 31.12.2009 AßÖ ]À»øÓ ö\»Ä C¸¨¦ 200 

 QøÍ¯õÀ v¸¨¤ AÝ¨£¨£mh \μUS 2,000 

 31.12.2009 AßÖ PhÚõÎPÒ  48,000 

20. Write the specimen of Contract account.  

 J¨£¢uU PnUQß ©õv› £iÁzvøÚ GÊxP. 

____________ 
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F–1547   

B.Com. (CA) DEGREE EXAMINATION, APRIL 2019 

Fourth Semester 

Commerce with Computer Applications 

BUSINESS MATHEMATICS 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. A boy buys an article for Rs.40 and sells it for Rs.65. 
Express his profit as a percentage of the cost price. 

 J¸ ]ÖÁß J¸ ö£õ¸øÍ ¹.40US Áõ[Q ¹.65US 

ÂØQÓõß. ö\»ÂÚzvß J¸ \uÃu©õP AÁß »õ£zøu 

Põmk. 

2. Define Banker’s discount. 

 Á[Q¯õÍºPÎß uÒÐ£i Áøμ¯Ö. 

3. State the power rule for logarithm. 

 ©hUøPUPõÚ BÐø© Âv TÖP. 

4. Find the value of m  if m64log2 . 

 m64log2  GÛÀ m &Cß ©v¨¦ PõsP. 

Sub. Code 
7BCC4C4 
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5. State whether the statements are True or False : 

 (a) The set }0{  is an empty set 

 (b) }9,7,5,3{5 . 

 AÔUøPPÒ \›¯õ, uÁÓõ GÚ TÖP : 

 (A) }0{  Gß£x öÁØÖ Pn©õS® 

 (B) }9,7,5,3{5 . 

6. Given }6,5,4,2{},8,6,4,2{},4,3,2,1{  CBA  list 

the elements of the sets CBA  )(  and )( CBA  . 

 }6,5,4,2{},8,6,4,2{},4,3,2,1{  CBA  GÛÀ 

CBA  )(  ©ØÖ® )( CBA   £mi¯À Aø©zx Põmk. 

7. State Bay is Theorem in Probability. 

 {PÌuPÂß ÷£¯ì ÷uØÓ® TÖP. 

8. State addition theorem in probability. 

 {PÌuPÂß TmhÀ ÷uØÓ® TÖP. 

9. Write down the general term of the binomial nax )(  . 

 D¸Ö¨¦ 
nax )(  &°ß n &BÁx EÖ¨¦ GÊxP. 

10. What is the sum of Binomial coefficients? 

 D¸Ö¨¤ß Tmk SnP® GßÓõÀ GßÚ? 
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 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Find the cash value of the bill of Rs.1,500 at 3 
months discounted at 4%. 

  J¸ μ]vß ©v¨¦ 3 ©õuzvØS ¹.1,500, uÒÐ£i 4% 

GÛÀ Auß £n©v¨¦ PõsP. 

Or 

 (b) What is Compound Interest? Write down its 
formula. 

  Tmk Ámi GßÓõÀ GßÚ? Auß `zvμ® GÊxP. 

12. (a) If abba 722   show that 
baba loglog5log)log(2  . 

  abba 722   GÛÀ, baba loglog5log)log(2   

GÚ {ÖÄP. 

Or 

 (b) Find the value of 
45.1762.21
52.1826.71




 using logarithm 

table. 

  ©hUøP AmhÁøn öPõsk 
45.1762.21
52.1826.71




 

©v¨¤kP. 

13. (a) Verify by Venn Diagram BABA  )( . 

  öÁß £h[PÒ öPõsk BABA  )(  GÚ 

\›£õºUPÄ®. 

Or 

 (b) Prove that ABBA   if }3,2,1{A  and 
}5,4,3{B . 

  }3,2,1{A  ©ØÖ® }5,4,3{B  GÛÀ, 

ABBA   {¹¤. 
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14. (a) Calculate the probability of picking a card that was 

a heart or spade. Comment on your answer. 

  J¸ ^mkPmiÀ J¸ Amøh Gk¨¤ß AøÁ íõºm 

AÀ»x ì÷£m {PÌuPÄ PõsP. E[PÒ Âøh P¸zx 

TÖP. 

Or 

 (b)  A dealer in refrigerators estimates the following 
data. Per day/ 

No. of refrigerators  
sold in a day 

0 1 2 3 4 5 6 

Probability : 0.03 0.20 0.23 0.25 0.12 0.10 0.07

  Find the average number of refrigerators sold in a 
day. 

  ¤ßÁ¸ÁÚ J¸ SÎº\õuÚ ö£mi Â¯õ£õ› |õÒ 1US 

öPõkUS® ÂÁμ®. Cuß \μõ\› ©v¨¤kP. 

|õÒ 1US ÂØP¨£k® 

SÎº\õuÚ ö£miPÒ : 
0 1 2 3 4 5 6 

{PÌuPÄ : 0.03 0.20 0.23 0.25 0.12 0.10 0.07

15. (a) State Binomial theorem for positive integral index 
and find the value of 2)21( x . 

  D¸Ö¨¦ ÷uØÓzøu ÷|º©øÓ J¸[Qøn¨¦ 

SÔ±mkUS TÖP, ©ØÖ® 
2)21( x  ©v¨¤kP. 

Or 

 (b) Find the independent term in the expansion of 
15

2
3 3







 

x
x . 

  

15

2
3 3







 

x
x  Â›ÁõUPzvÀ _¯õwÚ Põ» ©v¨¦ PõsP. 
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 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain Nominal rate and Effective rate of interest with 
an example. 

 ö£¯μÍÄ ÂQu®, £¯ÝÒÍ ÂQu® Euõμn® öPõsk 

ÂÍUSP. 

17. Find an value of : 

 (a) x128log2  

 (b) x729log3 . 

 (A) x128log2  

 (B) x729log3  GÛÀ, x&Cß ©v¨¦ PõsP. 

18. In a survey of 5000 persons, it was found that 2800 read 
Indian Express and 2300 read Hindu, while 400 read 
both papers. How many read neither Indian Express nor 
Hindu? 

 5000 |£ºPÎÀ PnUöPk¨¤À, 2800 |£ºPÒ C¢v¯ß 

GUì¤μì £iUQÓõºPÒ, 2300 C¢x £iUQÓõºPÒ,  

400 |£ºPÒ Cμsøh²® £iUQÓõºPÒ. GÆÁÍÄ |£ºPÒ 

CÆÂμsøh²® £iUPÂÀø». 

19. The table shows the number of customers returning the 
products in a marketing territory. The data is for  
100 stores : 

No. of returns : 0 1 2 3 4 5 6 

No. of stores :  4 14 23 23 18 9 9 

 Fit a Poisson distribution. 
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 ÁõiUøP¯õÍºPÒ J¸ \¢øu¨£kzuÀ £SvUS v¸®£ 

öPõkzu ö£õ¸ÒPÎß AmhÁøn, ©ØÖ® 100 PøhPÎß 

ÂÁμ®. CuØS £õ´\õß £μÁø» ö£õ¸zxP. 

v¸®¤¯ 

ö£õ¸Îß Gs. : 

0 1 2 3 4 5 6 

PøhPÎß Gs :  4 14 23 23 18 9 9 

20. (a) Find the value of 10)99(.  using Binomial theorem. 

 (b) Simplify 3223 )(3)(3)( bbabbabba  . 

 (A) D¸Ö¨¦ ÷uØÓzøu £¯ß£kzv 
10)99(. &ß ©v¨¦ 

PõsP. 

 (B) GÎø©¨£kzxP :   
3223 )(3)(3)( bbabbabba   

 

 

 
———————— 
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U.G. DEGREE EXAMINATION, APRIL 2019 

Commerce with Computer Application 

Allied — BANKING THEORY 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. What do you mean by co-operative bank? 

 TmkÓÄ Á[Q GßÓõÀ GßÚ? 

2. Why do we need banks in India? 

 C¢v¯õÂÀ Á[QPÎß AÁ]¯zøu TÖP. 

3. Briefly state the importance of credit cards. 

 Phß AmøhPÎß •UQ¯zxÁzøu _¸[P TÖP. 

4. State the meaning of social responsibility. 

 \‰P ö£õÖ¨¦PÎß ö£õ¸Ò u¸P. 

5. What is meant by teller system? 

 £n¨ ö£õÖ¨£õÍº •øÓ GßÓõÀ GßÚ? 

6. Why is RRB created? 

 ©sh» Qμõ© Á[Q GuÚõÀ E¸ÁõUP¨£mhx? 

Sub. Code 
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7. What is meant by CRR? 

 CRR GßÓõÀ GßÚ? 

8. State the defects of Qualitative Credit Control. 

 Phß ußø©U Pmk¨£õmiß SøÓ£õkPøÍ TÖP. 

9. Define banking. 

 Á[Q°¯À – C»UPn® u¸P. 

10. What is meant by e-banking? 

 C&Á[Q°¯À GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Trace the origin of banks in India. 

  C¢v¯õÂÀ Á[QPÎß ÷uõØÓzøu GÊxP. 

Or 

 (b) Bring out the shortcomings of branch banking. 

  QøÍ Á[Q°ß SøÓ£õkPøÍ öÁÎUöPõnºP. 

12. (a) Write a note on : 

  (i) Leasing 

  (ii) Merchant banking. 

  SÔ¨¦ ÁøμP : 

  (i) SzuøP°kuÀ. 

  (ii) Â¯õ£õμ Á[Q°¯À. 

Or 

 (b) Explain the general principles of lending. 

  Phß ÁÇ[Su¼ß ö£õxU ÷Põm£õkPøÍ ÂÍUSP. 
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13. (a) Describe the process of credit creation in brief. 

  Phß E¸ÁõUSuÀ •øÓ°øÚ _¸UP©õP ÂÁ›UP. 

Or 

 (b) State the investment policies of banks. 

  Á[QPÎß •u½mk öPõÒøPPøÍ TÖP. 

14. (a) State the provisions for licensing of banks. 

  Á[QPÒ E›©® ö£Ó¼À EÒÍ \μzxUPøÍ TÖP. 

Or 

 (b) Explain briefly the importance of RBI. 

  RBI&°ß •UQ¯zxÁzøu _¸[P ÂÍUSP. 

15. (a) State the advantages of ‘Ombudsman’. 

  ‘Ombudsman’&°ß |ßø©PøÍ TÖP. 

Or 

 (b) Write a note on privatisation of banks. 

  Á[QPÎß uÛ¯õº©¯©õUSuø» £ØÔ SÔ¨¦ ÁøμP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the functions of banking. 

 Á[QPÎß £oPÒ ¯õøÁ GÚ ÂÍUSP. 

17. State the role of commercial banks. 

 ÁoP Á[QPÎß £[QøÚ TÖP. 

18. What is the importance of RRB’s? Explain its advantages. 

 ‘RRB’&°ß •UQ¯zxÁzøu²®, Auß |ßø©PøÍ TÖP. 
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19. Discuss how SBI helps in  

 (a) Agricultural finance. 

 (b) Co-operative sector. 

 (c) SSI’s. 

 £õμu ì÷hm Á[Q CøÁPÐUS GÆÁõÖ EuÄQÓx GÚ 

ÂÁ›UP : 

 (A) ÂÁ\õ¯ {v 

 (B) TmkÓÄ xøÓ 

 (C) ]Ö öuõÈÀ {ÖÁÚ®. 

20. State the steps to mitigate non-performing assets in 
banks. 

 Á[QPÎß ÁõμõUPhß SøÓ¨£uØPõÚ ÁÈ•øÓPøÍ TÖP. 

 

—————— 
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F–1684   

U.G. DEGREE EXAMINATION, APRIL 2019 

Commerce with Computer Application 

Allied : BANKING & LAW AND PRACTICE 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Who is a banker? 

 Á[Q¯º GßÓõÀ ¯õº? 

2. What is meant by lien? 

 E›ø© GßÓõÀ GßÚ? 

3. What is meant by saving deposit? 

 ÷\ª¨¦ øÁ¨¦ GßÓõÀ GßÚ? 

4. What are favorable entries? 

 \õuP©õÚ EÒÏkPÒ GßÓõÀ GßÚ? 

5. Define cheque. 

 Põ÷\õø» – C»UPn® u¸P. 

6. What is material alteration? 

 Ai¨£øh ©õØÓ® GßÓõÀ GßÚ? 

7. Who is a paying banker? 

 £n® ÁÇ[S® Á[Q¯º GßÓõÀ ¯õº? 

Sub. Code 
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8. What is endorsement? 

 ¦ÓUSÔ¨¦ GßÓõÀ GßÚ? 

9. Define draft. 

 Áøμ÷¯õø» – C»UPn® u¸P. 

10. What is FDR? 

 FDR GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Does the banker has right to charge interest. 
Explain. 

  Á[Q¯¸US Ámi Á`¼US® E›ø© EÒÍuõ? 

ÂÍUSP. 

Or 

 (b) Explain the general obligation to honor cheque. 

  Põ÷\õø»UPõÚ Phø©ø¯ GÆÁõÖ ©›¯õøu ö\´Ãº 

GßÖ ÂÍUSP. 

12. (a) How to maintain current account? 

  |h¨¦ PnUøPø¯ GÆÁõÖ £μõ©›UP ÷Ásk®. 

Or 

 (b) Explain the procedure to maintain Joint account. 

  Tmk PnUøP GÆÁõÖ £μõ©›¨¥º, Auß ö\¯À•øÓ  

ÂÍUP® u¸P. 

13. (a) Differentiate cheque from bill of exchange. 

  Põ÷\õø»US® ÁõUSÖv¨  £zvμzvØS® EÒÍ 

÷ÁÖ£õkPÒ u¸P. 

Or 

 (b) Explain the procedure to allow a cheque. 

  J¸ Põ÷\õø»ø¯ AÝ©vUS® ö\¯À•øÓø¯ 

ÂÍUSP. 
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14. (a) What are the rights of a paying banker? 

  £n® ÁÇ[S® Á[Q°ß E›ø©PÒ ¯õøÁ? 

Or 

 (b) State the statutory protection under NI Act for a 
paying banker. 

  £n® ÁÇ[S® Á[Q°ß \mh•øÓø¯¨ £õxPõ¨ø£ 

NI \mhzvß RÌ TÖP. 

15. (a) State the various forms used in banks. 

  Á[Q°À EÒÍ £À÷ÁÖ £iÁ[PøÍ GÆÁõÖ 

£¯ß£kzxÃºPÒ – ÂÍUSP. 

Or 

 (b) State the protection available to collecting banker. 

  Á`¼US® Á[Q¯›ß £õxPõ¨¤øÚ ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Enumerate the relationship between banker and 
customer. 

 Á[Q¯¸US®, ÁõiUøP¯õÍ¸US® EÒÍ öuõhº¤øÚ 

ÂÁ›UP. 

17. Discuss the procedure to opening an account in banks. 

 J¸ Á[Q PnUS öuõh[SÁuØPõÚ ö\´•øÓø¯ 

ÂÁõvUP. 

18. State the essentials of cheque and promissory note. 

 Põ÷\õø» ©ØÖ® ÁõUSÖv £zvμzvß Ai¨£øhPøÍ 

ÂÍUSP. 



F–1684 

  

  4

Sp3 
19. Explain the kinds of endorsement. 

 ¦ÓUSÔ¨¤ß ÁøPPøÍ ÂÍUSP. 

20. Brings out the need for : 

 (a) Promissory note 

 (b) Traveler’s cheque 

 (c) Credit card 

 (d) Letter of credit. 

¤ßÁ¸ÁÚÂß ÷uøÁPøÍ öÁÎöPõnºP. 

(A) ÁõUSÖv £zvμ® 

(B) £¯o°ß Põ÷\õø» 

(C) Phß Amøh 

(D) Phß Piu®. 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2019 

Commerce with Computer Application 

Allied — PRINCIPLES OF MANAGEMENT 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define management. 

 ÷©»õsø©&C»UPn® u¸P. 

2. What do you mean by unity of command? 

 J¸ø© EzvμÄ GßÓõÀ GßÚ? 

3. State the need for objectives. 

 ÷|õUP[PÎß AÁ]¯zøu TÖP. 

4. Write a note on simulation. 

 ö\¯Ø÷£õ¼ •øÓ GßÓõÀ GßÚ? 

5. What is authority? 

 Bøn E›ø©&SÔ¨¦ ÁøμP. 

6. What is meant by departmentation? 

 xøÓPÍø©zuÀ GßÓõÀ GßÚ? 

7. Write the importance of staffing. 

 £o¯õÍº {¯©Ú® •UQ¯zxÁzøu GÊxP. 

Sub. Code 
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8. State the need for induction.  

 ¦x•P® ö\´uÀ&÷uøÁø¯ TÖP. 

9. Define performance appraisal. 

 ©v¨¥k ö\´uÀ&C»UPn® u¸P. 

10. What is meant by two way communication? 

 C¸ÁÈz öuõhº¦ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Enumerate the principles of scientific management. 

  AÔÂ¯À Ÿv¯õÚ ÷©»õsø©U TÖPøÍ ÂÁõvUP. 

Or 

 (b) Explain the characteristics of management. 

  ÷©»õsø©°ß Sn|»ßPøÍ ÂÍUSP. 

12. (a) Explain the features of decision-making. 

  wº©õÚ® Gkzu¼ß ußø©PøÍ ÂÍUSP. 

Or 

 (b) State the objectives of planning. 

  ÷|õUP[PÎß •UQ¯zxÁzøu TÖP. 

13. (a) Explain why departmentation is necessary. 

  xøÓ Aø©zuÀ&GuÚõÀ ÷uøÁ£kQÓx GÚ ÂÍUSP. 

Or 

 (b) Describe the organisation structure. 

  Aø©¨¦ Pmk©õÚ •øÓø¯ ÂÁ›UP. 
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14. (a) Briefly explain the traditional methods of training. 

  £õμ®£›¯ £°Ø] •øÓPøÍ _¸UP©õP ÂÍUSP. 

Or 

 (b) State the steps involved in staffing. 

  ÷uº¢öukzuÀ •øÓ°¾ÒÍ Pmh[PøÍ TÖP. 

15. (a) Explain Herzberz’s theory of motivation. 

  ‘Herzberz’s – FUSÂzu¼ß ÷Põm£õmiøÚ ÂÍUSP. 

Or 

 (b) Briefly explain the principles of direcing. 

  C¯USÂzu¼ß öPõÒøPPøÍ _¸[P ÂÍUSP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain in detail the evolution of management thought. 

 ÷©»õsø©a ]¢uøÚ°ß ÁÍºa]ø¯ Â›ÁõP ÂÍUSP. 

17. Examine the steps in planning process. 

 vmhzvß |øh•øÓ°À Em£mh Pmh[PøÍ B´Ä ö\´P. 

18. What is span of management? Explain the factors which 
determines span of management. 

 ÷©Ø£õºøÁ AÍÄ GßÓõÀ GßÚ? Aøu {ºn°US® 

PõμoPÒ ¯õøÁ? GÚ ÂÍUSP. 

19. Explain the selection procedure in detail. 

 ÷uº¢öukzu¼ß |øh•øÓ°øÚ Â›ÁõP ÂÍUSP. 

20. Discuss the problems in communication and suggest 
measures to overcome it. 

 uPÁÀ öuõhº¤À EÒÍ ¤μa\øÚPøÍ²® AøÁ 

}USÁuØPõÚ ÁÈ•øÓPøÍ²® ÂÍUSP. 

———————— 
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 Part A  (10  2 = 20) 

Answer all questions. 

1. What is service marketing? 

 ÷\øÁ \¢øu°hÀ GßÓõÀ GßÚ? 

2. State the types of service marketing. 

 ÷\øÁ \¢øu°h¼ß ÁøPPøÍ GÊxP. 

3. What is service marketing mix? 

 ÷\øÁ \¢øu P»øÁ GßÓõÀ GßÚ? 

4. What is service process? 

 ÷\øÁ •øÓ GßÓõÀ GßÚ? 

5. Define Customer Retention. 

 ~Pº÷Áõøμ uUPøÁzuÀ ÁøμÂ»UPn® u¸P. 

6. What is service promotion? 

 ÷\øÁ ö£¸UP® GßÓõÀ GßÚ? 
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7. Define service quality gap. 

 ÷\øÁ uμzvß CøhöÁÎPÒ ÁøμÂ»UPn® u¸P. 

8. State the elements of promotion mix for services. 

 ÷\øÁ ö£¸UP P»øÁ°ß TÖPøÍ GÊxP. 

9. What is service quality? 

 ÷\øÁ uμ® GßÓõÀ GßÚ? 

10. What is Tourism Marketing? 

 _ØÖ»õ \¢øu°kuÀ GßÓõÀ GßÚ? 

 Part B  (5  5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain various types of services. 

  ÷\øÁPÎÀ £À÷ÁÖ ÁøPPøÍ ÂÁ›. 

Or 

 (b) State the difference between services and products. 

  ÷\øÁ ©ØÖ® ö£õ¸mPÒ Cøh°»õÚ ÷ÁÖ£õkPøÍ 

ÂÍUSP. 

12. (a) State the emerging trends in service marketing. 

  ÷\øÁ \¢øu°h¼ß £›nõ© ÁÍºa] £ØÔ GÊxP. 

Or 

 (b) State the importance of pricing. 

  Âø» {ºn°zuÀ •UQ¯zxÁzøu ÂÁ›. 
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13. (a) Write short note on quality gaps. 

  uμzvß CøhöÁÎPÒ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) State the characteristics of financial services. 

  {v ÷\øÁ°ß £s¦PøÍ ÂÍUSP. 

14. (a) Explain the service of a product. 

  ö£õ¸Îß ÷\øÁPÒ £ØÔ ÂÍUSP. 

Or 

 (b) What are the benefits of marketing segmentation in 
service marketing? 

  ÷\øÁ \¢øu ¤›Âh¼ß |ßø©PÒ ¯õøÁ? 

15. (a) Write short note on Bank marketing. 

  Á[Q \¢øu°hÀ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) Write short note on marketing of services. 

  \¢øu°hÀ ÷\øÁ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the characteristics of services. 

 ÷\øÁ°ß £s¦PøÍ £ØÔ ÂÍUSP. 

17. Explain the seven P’s in service marketing mix. 

 ÷\øÁ \¢øu P»øÁ°ß ‘‘7P’’ UPÒ ¯õøÁ? 
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18. Explain the service life cycle concept. 

 ÷\øÁ°ß ÁõÌUøP _ÇØ]°ß P¸zøu ÂÍUSP. 

19. What are the functions of intermediaries in service firms? 

 ÷\øÁ {ÖÁÚzvÀ CøhuμPºPÐUPõÚ £oPøÍ  ÂÍUSP. 

20. How to market an Airline explain? 

 Â©õÚa \¢øu°hÀ •øÓ°øÚ¨ £ØÔ ÂÍUSP. 

———————— 


